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Question Number : 1 Question Id : 8513303454 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Diameter of thin wire is measured by

1. Screw (Gauge
2. Spherometer
3. Spectrometer
4. Venturimeter
Options :
85133013801. 1
85133013802. 2
85133013803. 3
85133013804. 4

Question Number : 1 Question Id : 8513303454 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Uddl dR &1 o1y frgas gRT H19T SIdl & -

1. BpilS

2. EhiHieR
3. Hae ey
4. ddmndt



Options :

85133013801. 1
85133013802. 2
85133013803. 3
85133013804. 4

Question Number : 2 Question Id : 8513303455 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The unit of length, fermi is used for the measurement of

1. Distance of stars

2. Interatomic dimension
3. Height of mountain

4, Nuclear dimension
Options :

85133013805. 1
85133013806. 2
85133013807. 3
85133013808. 4

Question Number : 2 Question Id : 8513303455 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
s & AE®, BH &l [hadl AT & 3Uar fedr ol § ?

1. TRI DI g3

2. 3R URHTE famradt
3. Jdd @I $dls

4, S faaTaf
Options :

85133013805. 1




85133013806. 2
85133013807. 3
85133013808. 4

Question Number : 3 Question Id : 8513303456 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Two resistances, R = 60 = 6 ohm and R; = 40 + 2 chm are connected in series. The equivalent
resistance will be

1. 100 £ 12 ohm
2. 100 £ 10 ohm
3.100 £ 8 ohm
4.100 £ 4 ohm
Options :
85133013809. 1
85133013810. 2
85133013811.3
85133013812. 4

Question Number : 3 Question Id : 8513303456 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

&l afeRiel Ry = (60 + 6) AATUTR, = (40 + 2) 31 @I Yuft & Toiferd o @ 81 9@ q

PIGRIERS T

1. (100 + 12) 3H
2.(100 + 10) 3H
3. (100 + 8) M
4.(100 + 4) 3H
Options :

85133013809. 1



85133013810. 2
85133013811. 3
85133013812. 4

Question Number : 4 Question Id : 8513303457 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The dimensional formula for thrust is

1. MPLoT?

2. MPLOT!

3. MLTT

4, MLT2
Options :
85133013813. 1
85133013814. 2
85133013815. 3
85133013816. 4

Question Number : 4 Question Id : 8513303457 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

e & foe faeiia 93 8

1. MOLOTD

2. MOLOT

3. ML

4. MLT2
Options :
85133013813. 1
85133013814. 2
85133013815. 3



85133013816. 4

Question Number : 5 Question Id : 8513303458 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
A person starts from home to reach the market. First he goes 50 m due north, then 30 m due
east and finally 50 m due south. His displacement from home is,

1. 80 m due south
2. 80 m due east
3. 30 m due south
4. 30 m due east
Options :
85133013817. 1
85133013818. 2
85133013819. 3
85133013820. 4

Question Number : 5 Question Id : 8513303458 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

i3 Afdd a9k Ugd & ol ®R Y M Y 71fd 3R™Y $d1 &1 Ued 98 50 m 31d Ik fe=n o
WA &, fthR 30 m 3% Ud G2 3R 3 & s0m 1o aiam f3=n & S &1 9R ¥ ST G
g

1. 80m Bk GI&or
2. 80m 31 gd

3. 30m &I &I
4. 30m &1& gd
Options :
85133013817 1
85133013818. 2




85133013819.3
85133013820. 4

Question Number : 6 Question Id : 8513303459 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The displacement of the point P on the wheel (see figure) as the wheel completes half
revolution while rolling on the ground is

1. 2mr

2. r

3.wr + 2r

4 rnl+a
Options :
85133013821. 1
85133013822. 2

85133013823.3
85133013824. 4

Question Number : 6 Question Id : 8513303459 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



R TR Tle- ®Xd UHd (G GRad) 9d UiedT 1T UREHHT Q31 &l 6, df Uied 3R fdg P @l
TRmE e s -

@1

3.wr+ 2r

4 rnt+4

1. 2mr

Options :

85133013821. 1
85133013822. 2
85133013823.3
85133013824. 4

Question Number : 7 Question Id : 8513303460 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



The displacement-time (s-t) graph for a body moving with positive constant acceleration is
represented by,

¥ 3
S /—\
1.
it
A
5
2.
ot
A
5
3.
ot
A
5
4
ot

Options :
85133013825. 1



85133013826. 2
85133013827.3
85133013828. 4

Question Number : 7 Question Id : 8513303460 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :

85133013825. 1



85133013826. 2
85133013827.3
85133013828. 4

Question Number : 8 Question Id : 8513303461 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
A mass is projected from ground with certain velocity at an angle with the horizontal. We can
say that its speed will be

1. Constant during the flight

2. Decreasing continuously during the flight
3. Minimum at the highest point

4. Maximum at the highest point

Options :

85133013829. 1

85133013830. 2

85133013831. 3

85133013832. 4

Question Number : 8 Question Id : 8513303461 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
fordl fus @1 ercll ¥ &fde ¥ @ig ®Iv §1d gu [l [ 971 4 valftd v a1 81 e &g
qPHd o [ 39 (U3 &I a7 :

1. 35 & 9H9g Had 5|

2. 38 & 99g FRa gem|

3. 3=daH fo=g W Fgad gRm
4. FeqH femg R Hfdad ghm|
Options :

85133013829. 1




85133013830. 2
85133013831.3
85133013832. 4

Question Number : 9 Question Id : 8513303462 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

A cyclist speeding at 5 ms™' on a level road takes a sharp circular turn of radius 5 m without
tilting and reducing the speed. What should be the minimum value of the coefficient of static
friction between the tyres and the road so that the cyclist will not slip while taking the turn?
(take g=10 ms™9)

1. 0.50

2.0.25

3. 0.20

4,015
Options :
85133013833. 1
85133013834.2
85133013835. 3
85133013836. 4

Question Number : 9 Question Id : 8513303462 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



TATA 98P U 5m/s @1 91d © A Big 95ad 9iad did @f &H f6U &1 5m B &1
dl&01 g HiS odl &1 ISh SR RRI & did Widd gy 7ulie & HgaH JF &1 g1 diiet
difs A dd 994 98 9I5idd 9aR A fhaa?

(g=10 ms2 ofife)

1. 0.50

2.0.25

3.0.20

4.0.15
Options :
85133013833. 1
85133013834. 2
85133013835.3
85133013836. 4

Question Number : 10 Question Id : 8513303463 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
A mass is thrown vertically upward. The direction of net force acting on the mass during its
upward and downward journey respectively will be,

1. Upward, upward

2. Upward, downward

3. Downward, upward

4. Downward, downward
Options :

85133013837. 1
85133013838. 2
85133013839. 3
85133013840. 4



Question Number : 10 Question Id : 8513303463 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Tl e &1 SHdieR IuRTE bdl T 21 34 [0S W SEd ¢ 9d 3 G2 IS JuRgd!
a0 & GHY TYT U T & THY HH: g1

1. JuREd, Sufe
2. SR, St
3. YT, SuReE!
4. ST, St
Options :
85133013837. 1
85133013838. 2
85133013839. 3
85133013840. 4

Question Number : 11 Question Id : 8513303464 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
A block of mass m is attached to a spring having spring constant k. The block is now pulled to
x, and released. The maximum speed it will attain will be

Options :

85133013841. 1
85133013842. 2
85133013843.3



85133013844. 4

Question Number : 11 Question Id : 8513303464 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
SHAM m B DIy [ed] GHF Hadid k DI fbdl DA Y ST &1 3d IHICD D x,,, TP
Giaee Had ®R G4 ordl | 39 et gRI U S{Edad ard gRil

Options :

85133013841. 1
85133013842.2
85133013843.3
85133013844. 4

Question Number : 12 Question Id : 8513303465 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



A block of mass 1 kg can slide down a smooth curved track (see figure). If the block is released
from point A, the velocity at point B will be (g=70 m s2)

A
kg []a A
T

“_Bq Am .

1.20ms’]
2.10v2m s’
3.10ms’!

4, \10msT

Options :

85133013845. 1
85133013846. 2
85133013847. 3
85133013848. 4

Question Number : 12 Question Id : 8513303465 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



1kg HOFH @I By el [bUl i+ dishd U4 IR WP Hbdl & (G ehav). 3¢ Ted @l fag
A U Had o1 Sidn 8, 4 fawg B O 9@ a1 81T, (g = 10ms™)

A
kg []a A
T

“_Bq Am .

1. 20 ms™
2.10v2m s’
3.10ms’!

4, \10msT

Options :

85133013845. 1
85133013846. 2
85133013847. 3
85133013848. 4

Question Number : 13 Question Id : 8513303466 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Two particles of masses m; and m; are situated at points A and B respectively (see figure). If O
be its centre of mass situated at the origin and r; and r; are position vectors of m; and m;
respectively, then r, /r, equals

Ma o my
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my
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4. |—2

my
L

Options :

85133013849. 1
85133013850. 2
85133013851.3
85133013852. 4

Question Number : 13 Question Id : 8513303466 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :

85133013849. 1
85133013850. 2
85133013851.3
85133013852. 4

Question Number : 14 Question Id : 8513303467 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



The moment of inertia of a uniform circular disc of radius R and mass M about an axis passing
through the centre and perpendicular to its plane is

-
1.:}MR

—
E'EMR

3. MR2
3,02
4.5 MR

Options :

85133013853. 1
85133013854.2
85133013855. 3
85133013856. 4

Question Number : 14 Question Id : 8513303467 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
A M SR Bl R @1 il ThaaH qeiid dfshal ol 38D dld & cradd 3R 39 b 9
oA dTd 344 & URRE: S ST B

-
1.:}MR

—
E'EMR

3. MR2
3,02
4.5 MR

Options :

85133013853. 1
85133013854.2
85133013855. 3
85133013856. 4



Question Number : 15 Question Id : 8513303468 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
A constant torque of 1000 N m rotates a wheel of moment of inertia 200 kg m? about an axis
passing through its centre. Starting from rest, its angular velocity after 4 s is

1.20rad s
2.15rad 57
3.10rad 571
4 2rad s’
Options :
85133013857.
85133013858.
85133013859.
85133013860.

AW N =

Question Number : 15 Question Id : 8513303468 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
HUA drg U TR dicl H&f & URd: 200 kgm? S 30l & [ 4l Gigl BT 1000 Nm &I Bl
gd aa gl guia Sl 8 fGUEawT T SRR @ik 4s & UHd S0® HIUg o e:

1. 20 rad 57
2.15rad s
3.10rad s
4. 2rads™
Options :
85133013857.
85133013858.
85133013859.
85133013860.

AW N =



Question Number : 16 Question Id : 8513303469 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Energy required to move a satellite of mass m from a height R to 2R from the surface of the
earth (M and R mass and radius of earth respectively) is

GMm

1.
2R
GMm

3R
GMm

3.
4R
GMm

oR
Options :
85133013861. 1
85133013862. 2
85133013863. 3
85133013864. 4

2.

-

Question Number : 16 Question Id : 8513303469 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
U] & U8 U S0 m & IUUE DI [l Hdls R U 2R 9% 71id B & [T =G Holl &
(@&l M Y1 R U] & 509 SR B g1)

TMm

2R
Mm

3R
tMm

4R
tMm

6R
Options :
85133013861. 1
85133013862.2

1.

2

3.

4,




85133013863. 3
85133013864. 4

Question Number : 17 Question Id : 8513303470 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
For a satellite, the escape velocity is 11.2 km s™1 from the surface of the earth. If the satellite is
launched at an angle of 60° with the vertical, then the escape velocity will be,

1. 11.2c0s60° km 571
2. 11.25in60%km s~
3.11.2 km s

4. 11.2tan60° km s~
Options :
85133013865. 1
85133013866. 2
85133013867. 3
85133013868. 4

Question Number : 17 Question Id : 8513303470 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
4l 3uUe & foiT gedl & U8 9§ Ui 971 11.2 ms™' €1 TG 39 IUUE &I HEER T 60° & I
IR Yrifed fddn Srar g, o 9o & g

1. 11.2 x cos60° km s
2. 11.2 x sin60%km 57
3.11.2km s’

4. 11.2 x tan60° km 57
Options :
85133013865. 1
85133013866. 2




85133013867. 3
85133013868. 4

Question Number : 18 Question Id : 8513303471 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
If the period of a satellite in a circular orbit of radius R is T, then the period of another satellite
in a circular orbit of radius 2R is

1. 2T

2. T/2

3.7T//8
4.4/8T
Options :
85133013869. 1
85133013870.2
85133013871. 3
85133013872. 4

Question Number : 18 Question Id : 8513303471 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
g A1 R & [bdl gaeR ®all | fdhdl ITUE @1 Hddeid T ©, 9l Bl 2R $f JuieR &l H
Tl 30 JUUE BT HGddId s -

1. 2T

2. T/2

3.7T//8
4.4/8T
Options :
85133013869. 1
85133013870.2



85133013871.3
85133013872. 4

Question Number : 19 Question Id : 8513303472 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
In Young's experiment, if the length of the wire and radius both are doubled, keeping the
material same, the value of Young's modulus Y will become

1. 2 times

2. 4 times

3. Remains same
4, Half

Options :
85133013873. 1
85133013874. 2
85133013875. 3
85133013876. 4

Question Number : 19 Question Id : 8513303472 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
U7 & UONTH dR & YT &1 THH 3Wd gU 3G R $i Biodl SR TTg alFl o &l T4 3R &1
TG, dl I 3[uTids v &l 0

1. G TH1 51 SIgT|
2. IR AT &l SIET |
3. gikafdd =gt ghm|
4. 3TE1 Bl ST
Options :
85133013873. 1
85133013874. 2



85133013875.3
85133013876. 4

Question Number : 20 Question Id : 8513303473 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

In the figure shown, if the tank (a) has a circular cross-section and tank (b) has a square cross-
section, then when filled with water, we can say

Water

1. The pressure at the bottom of (a) is greater than that at the bottom of (b)
2. The pressure at the bottom of (a ) is smaller than that at the bottom of (b)
3. The pressure at the bottom of (a) and (b) are same

4. The pressure depends on cross section of the container.

Options :

85133013877. 1

85133013878.2

85133013879. 3

85133013880. 4

Question Number : 20 Question Id : 8513303473 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



G T HRGA H Sl (a) DI HIUR BIC FUAIBR & a4l Sl (b) DI HTI™BIC FNBR ol Td

GHI ¢l o/d ¥ 11§ dd 5H e 9dbd o 1D -
ML G
e

1. (a) @ el IR GIE (b) I dell IR a9 9 H4F &
2. (a) I T¢H U GIE (b) DI il W &ld 4 39 ol
3. (2) I T¢ll U2 GIF (b) B deil IR G1d & 99 &l
4. G4 UF @] 30 DIE W R Har g1
Options :

85133013877. 1

85133013878. 2

85133013879. 3

85133013880. 4

Question Number : 21 Question Id : 8513303474 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



A U shaped wire with a slider of negligible mass and length 30 cm is dipped in a soap solution
and removed (see figure). If the thin soap film formed between the wire and the slider
supports a weight of 7.5x 7072 N then the surface tension of the film is

Soap film

1. 710x 7102 N m™!
2.5x102N m™’
3.25%x710¢ N m™
4. 1.25x10¢ N m™!
Options :
85133013881. 1
85133013882. 2
85133013883. 3
85133013884. 4

Question Number : 21 Question Id : 8513303474 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



30cm THETS 3R JUEUTTT So0HM 1 B3 U SHR HI dR gy T5sL o 8, fhdl 9ig1 &
facra H galdx aTgy Hobre o/ 71 § (3W GRaY) . 3¢ dR 3R WigsR & did ®I Udell [hed
1.5x 102 N HR DI G4 Tgdl &, dl heA BT YR a=1a & -

4—30cm —Pp

Soap film

1. 710x 7102 N m™!
2.5x102N m™’
3.25%x710¢ N m™
4. 1.25x10¢ N m™!
Options :
85133013881. 1
85133013882. 2
85133013883. 3
85133013884. 4

Question Number : 22 Question Id : 8513303475 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Heat engine converts heat to work using

1. Cyclic process

2. Isobaric process
3. Isochoric process
4. Adiabatic process
Options :
85133013885. 1
85133013886. 2
85133013887. 3
85133013888. 4

Question Number : 22 Question Id : 8513303475 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Fafafad 9 U 5" UsHH &1 Ui B Bly HO 5o S &I B H gRafdd Sl g ?

1. d1g UshH

2. gHETE! UehH

3. T9 A{Odd Uhd
4, FG™ - UHH
Options :
85133013885. 1
85133013886. 2
85133013887. 3
85133013888. 4

Question Number : 23 Question Id : 8513303476 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



The specific heat capacity of water at room temperature is (R is universal gas constant)

1R
2. 3R
3.9R
3
- > R
Options :
85133013889. 1
85133013890. 2

85133013891. 3
85133013892. 4

Question Number : 23 Question Id : 8513303476 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
EREANCIFEARAS IR

1.R
2. 3R

3.9R
3

4. 7R

Options :
85133013889. 1
85133013890. 2
85133013891. 3
85133013892. 4

Question Number : 24 Question Id : 8513303477 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



A body oscillates with simple harmonic motion according to the equation

x = 5cos (Zm‘—l-fj m

The frequency of the oscillation is:

1157
2257
3.ms’

4, 2m 5!
Options :
85133013893. 1
85133013894.2
85133013895.3
85133013896. 4

Question Number : 24 Question Id : 8513303477 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

@is 1Us e &1 7101 THIBR & SHR A SA1ad 11d 8 &0 Al & x = 5cos (27t +3) m
1 Sl @1 eI S -

1157
225"
3.

4. 2m s
Options :
85133013893. 1
85133013894.2
85133013895.3
85133013896. 4



Question Number : 25 Question Id : 8513303478 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
A steel wire of length 10 cm has a mass of 6 X 1072 Kg. If the wire is under a tension of 6 N,

the speed of the transverse waves on the wire will be

1.1.2ms"
2.10ms’!
3.12ms’!
4.100 m s
Options :
85133013897. 1
85133013898. 2
85133013899. 3
85133013900. 4

Question Number : 25 Question Id : 8513303478 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
10cm TS & [l Wi o dR &1 589 6 x 1072 kg &1 TG 39 dR W 6N &1 -4 &, d1 59
AR TR T T @1 =1 8l -

1.1.2ms!
2.10ms"
3.12ms’!
4100 ms’!
Options :
85133013897. 1
85133013898. 2
85133013899. 3
85133013900. 4



Question Number : 26 Question Id : 8513303479 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The electric field due to a uniformly charged thin spherical shell having charge g, at a point
outside the shell at a distance r from centre of the shell is (€5 is permittivity of free space)

(I
"7 2megr? '
2. F=—0 ¢
T amegr? :
3. Zero
4FE=-—1_7
T amegr? F

Options :

85133013901. 1
85133013902. 2
85133013903. 3
85133013904. 4

Question Number : 26 Question Id : 8513303479 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
b4l THgH SATGRId ey @id, 59 U 92 g 8, & SR Qe & §les 39d &g 4 r gil 1
Ry ol farg faegd SR B 8 (e, = SMebT=l 1 faqyasiicia)

— I:]f .
E = =T
! 2egr? '
- qg .
E = i
e dnegr? :
3.3
—- Ii]f .
E = =T
4 dnegr? '
Options :

85133013901. 1



85133013902. 2
85133013903. 3
85133013904. 4

Question Number : 27 Question Id : 8513303480 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
When two capacitors each having capacitance C are connected in series, the net capacitance
will be

1. 2C

2. C/2

3. CH4

4.4C

Options :
85133013905. 1
85133013906. 2
85133013907. 3
85133013908. 4

Question Number : 27 Question Id : 8513303480 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

e &l HHIieEl, S ude &1 41T ¢ & i 4uit | Faiferd & ®, df e el sidi 8

1. 2C

2.C/2

3.C/4

4. 4C

Options :
85133013905. 1
85133013906. 2



85133013907. 3
85133013908. 4

Question Number : 28 Question Id : 8513303481 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Three capacitors of equal capacitance, when connected in series, have a net capacitance C;
and when connected in parallel have a net capacitance Cy. The ratio Cy: C is

1.1:3

21:9

3.3:1

4.9:1
Options :
85133013909. 1
85133013910. 2
85133013911. 3
85133013912. 4

Question Number : 28 Question Id : 8513303481 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

T 1L & di9 Suifat &1 &9 4oft § Saifsa fear & & | 39@t 3¢ uifiar ¢, gidl & 3R
T o Gaiford @ IR 31 e IRkl ¢, 81 Sdl 81 C; : C; 3Td 81T -

1.1:3

2.1:9

3.3:1

4.9:1
Options :
85133013909. 1
85133013910. 2



85133013911.3
85133013912. 4

Question Number : 29 Question Id : 8513303482 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Two identical resistances are once connected in parallel and then in series to a source of V
volts. The ratio of power consumed in parallel to that in series will be

1.1:4

21:2

3.1:1

4.4:1
Options :
85133013913. 1
85133013914. 2
85133013915. 3
85133013916. 4

Question Number : 29 Question Id : 8513303482 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
&l 94 TH UiRiye! 1 ugd Ui $R i 40Tt H v diee o fod gid @ gaifer g g ) o |
I Wiad 3R Yot o Iuge 2fad &1 U1 811 -

1.1:4

2.1:2

3.1:1

4.4:1
Options :
85133013913. 1
85133013914.2



85133013915. 3
85133013916. 4

Question Number : 30 Question Id : 8513303483 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

There are two wires A and B made of same material, but length of B is double that of A and
cross-section of B is four times that of A. The ratio of resistivity pa/ps will be

1. 4

2.2

3.1

4.1/8
Options :
85133013917. 1
85133013918. 2
85133013919. 3
85133013920. 4

Question Number : 30 Question Id : 8513303483 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

THH Uerd & gl dR A HR B G E, 90 dR B &1 oS dR A &I ol &1 &l 11 9l dR B
©1 U BIE B &TH dR A DI W BIE & &A% d &I IR T 6| 37 dRI B WicRigddri
@I U pa/ ps BHTI -

1. 4

22

3.1
4.1/8
Options :



85133013917. 1
85133013918. 2
85133013919. 3
85133013920. 4

Question Number : 31 Question Id : 8513303484 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
An electric current 1 passes through a long straight wire. At a radial distance of 10 cm from the
wire, the magnetic field is B. The field at a radial distance of 30 cm will be

1. 3B

2. B/V3

3.B/3

4. B/9
Options :
85133013921. 1
85133013922.2
85133013923.3
85133013924. 4

Question Number : 31 Question Id : 8513303484 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

fd e UiY R ¥ f[aggayrT | yaifed &1 %1 6, duT R U B gl 10cm R I=a 10 &7 B B
5 f 30cm TR TS &7 8T -

1. 3B

2. B/V3
3.B/3

4. B/9
Options :



85133013921. 1
85133013922. 2
85133013923. 3
85133013924. 4

Question Number : 32 Question Id : 8513303485 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
An electron is moving in the north direction and experiences force along the vertically upward
direction. The direction of the magnetic field is towards

1. North

2. East

3. West

4, South
Options :
85133013925. 1
85133013926. 2
85133013927.3
85133013928. 4

Question Number : 32 Question Id : 8513303485 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
IR ez J faam DIs Soide- SWieRd: URTE! G2 & G 9d &I HHd B & |
T &7 3l fexme

1. 3
2.qd

3. ufgm
4, Gigo

Options :



85133013925. 1
85133013926. 2
85133013927. 3
85133013928. 4

Question Number : 33 Question Id : 8513303486 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Current sensitivity of a moving coil galvanometer can be increased by

1. Decreasing the number of turns in the coil

2. Decreasing the area of the coil

3. Decreasing strength of the magnetic field

4. Decreasing restoring torque per unit twist of the suspension wire
Options :

85133013929. 1

85133013930. 2

85133013931. 3

85133013932. 4

Question Number : 33 Question Id : 8513303486 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Ul TP Usl ea-HIex & YR - hlied! H gig [0 THR & &l 9dhdl & ?

1. PUSl | Bel Bl UBAl i

2. PUSTI B &S YeTdh

3. g &F B Yaedl YeTd

4, Tde R & Uid Ubid ¢1Re Ud-a- 9d HTYUl &l HeTa
Options :

85133013929. 1

85133013930. 2



85133013931. 3
85133013932. 4

Question Number : 34 Question Id : 8513303487 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The material suitable for making permanent magnet should have

1. High retentivity, low coercivity
2. Low retentivity, high coercivity
3. Low retentivity, low coercivity
4. High retentivity, high coercivity
Options :

85133013933. 1

85133013934.2

85133013935. 3

85133013936. 4

Question Number : 34 Question Id : 8513303487 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

W gd §H & e gard &1 gl ey

1. 3= YRUERNad, g Hofedr
2. frg yrurefiaar, 3= Fenfean
3. fAg yrvurefiaan g Rafear
4. 3= YRUEIedl, 3= Fargd
Options :

85133013933. 1

85133013934. 2

85133013935. 3

85133013936. 4



Question Number : 35 Question Id : 8513303488 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
In an ac generator, a coil with N turns, all having same area A and total resistance R, rotates

with angular frequency w in a uniform magnetic field B. The peak value of emf generated will
be,

1. NAB

2. NABR

3. NABw

4. NABRw
Options :
85133013937. 1
85133013938. 2
85133013939. 3
85133013940. 4

Question Number : 35 Question Id : 8513303488 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Tl ac I H Bis PUST N BE & 3R UU® B BT HAHT A 7Y HUST B Ha U R &
Ul tguH g &7 B T S0 31gfd w T Yui- &2 Tel & | I emf &I G 8T

1. NAB

2. NAEBR

3. NABw

4. NABRw
Options :
85133013937. 1
85133013938. 2
85133013939.3



85133013940. 4

Question Number : 36 Question Id : 8513303489 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The correct representation of variation of capacitative reactance X with frequency fis

x. A
1I \
> f
X, &
> \
> f
x. &
3. /
> f
x, A
4, /




Options :

85133013941. 1
85133013942. 2
85133013943. 3
85133013944. 4

Question Number : 36 Question Id : 8513303489 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



HIg £ & Gy TR wiaerd & faeRu &1 el g & aIel A1 & -

X, &
1.
T f
X. &
2 \
..F
Xc 4
3 /
p f
X, &
4, /
..f
Options :

85133013941. 1
85133013942. 2
85133013943.3
85133013944. 4



Question Number : 37 Question Id : 8513303490 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Two square metal plates A and B are of same thickness and material with side of B is twice that
of A. When current is passed through their series combination (see figure), the ratio of
resistance of two plates Ry/Rg will be

— A B
I A
1.1/4
2. 1/2
3.1
4.4
Options :

85133013945. 1
85133013946. 2
85133013947. 3
85133013948. 4

Question Number : 37 Question Id : 8513303490 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



T DI &l TR Ule®I A 3R B GHH HieTg AR THH UGl S 81 B DI Yol A B Yo BT &l T
&1 o 3 Ul 1adi o 4Uil Yol ¥ YRT Yalied ®i Sl & (HRE aray ) dl aFi giedrai &
HicRIeT &I SUrd, Ry / Rg BRI

>— A B =
I A
1. 1/4
2.1/2
3.1
4.4
Options :

85133013945. 1
85133013946. 2
85133013947.3
85133013948. 4

Question Number : 38 Question Id : 8513303491 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Two coils are placed close to each other such that time varying current in one coil generates
time varying current in the other. The mutual inductance between the coils depend on

1. The rate of change of current in two coils

2. Materials of the wires used in two coils

3. Currents in two coils

4. The relative position and orientation of two coils
Options :

85133013949. 1



85133013950. 2
85133013951.3
85133013952. 4

Question Number : 38 Question Id : 8513303491 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
&l HUSTAl U Wk & (Hdhe 34 UPHR 3| ¢ b U st H YHY - URad! URI gl Huscl H
gy - GREdT 4T Ie0d Bl & | 31 PUsierd! & & - R R Har 8

1. GIFI HUsferEl o ¥R URad- &1 &2 |

2. G pUSierEl & &9 H SN farg U verf =
3. GHI pUsirE T RIS IR

4. GHI pUsierl o wug Rufd 3R e o
Options :

85133013949. 1

85133013950. 2

85133013951.3

85133013952. 4

Question Number : 39 Question Id : 8513303492 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The core of transformer is laminated so that

1. Copper loss is minimized

2. Eddy current loss is minimized
3. Rusting of core is stopped

4. Change in flux is increased
Options :

85133013953. 1

85133013954. 2



85133013955.3
85133013956. 4

Question Number : 39 Question Id : 8513303492 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
TFIGTER & AR B Wikd (641 Sidl § diid

1. I9 g1 Agad 81 §e

2. HATYR &7 F9dH gl w1

3. I8 U S TPl 3 &Y

4. 77 & URad F afg st 9ie
Options :

85133013953. 1

85133013954. 2

85133013955. 3

85133013956. 4

Question Number : 40 Question Id : 8513303493 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
A 20 (1 electric heater is connected to 100 V, 50 Hz supply. The peak value of electric current
flowing in the circuit is nearly

1.25A
2.50A
3.70A

4. 10 A
Options :
85133013957. 1
85133013958.2
85133013959. 3



85133013960. 4

Question Number : 40 Question Id : 8513303493 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

20 0 fdggd 8IeX 100V: 50 Hz 1 3MYfd § HaIfd &1 ukuy ¥ ydifed faggd urT &1 Rrara 8
TRTHAT

1.25A
2.50A
3.70A

4. 10 A
Options :
85133013957. 1
85133013958. 2
85133013959. 3
85133013960. 4

Question Number : 41 Question Id : 8513303494 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Light wave is travelling along y-axis. The electric field vector E is along x-axis. The
corresponding direction of magnetic field vector B will be along

1.y - axis

2. - X - axis

3. + z - axis

4, - z - axis
Options :
85133013961. 1
85133013962. 2
85133013963. 3



85133013964. 4

Question Number : 41 Question Id : 8513303494 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

U] - AT y - 38 B SIIG T B 6! o1 [9GYd & WA E x - 3181 & SFfew 31 g=aprg
&1 Te=T B P dg1Et fa=m it

ly- & & aﬂm
2. -x - HE D fe™
3. +z - 318 & G
4.-z- & D e
Options :
85133013961. 1
85133013962. 2
85133013963. 3
85133013964. 4

Question Number : 42 Question Id : 8513303495 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The critical angle for diamond is (p = 2 for diamond)

1. 60°

2. 45°

3. 30°

4. Nearly 20°
Options :
85133013965. 1
85133013966. 2
85133013967. 3
85133013968. 4



Question Number : 42 Question Id : 8513303495 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
SOHUS & U Hifdes DI Eld s EEAE & ol p = 2)

1. 60°
2. 45°

3. 30°

4. TTHIT 20°
Options :
85133013965. 1
85133013966. 2
85133013967. 3
85133013968. 4

Question Number : 43 Question Id : 8513303496 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



The central part of a convex lens is covered by black paper (see figure). Then we can say

1. No image will be formed

2. Full image will be formed but will be less bright

3. Central part of image will be missing

4. Two images will be formed, each due to two different parts
Options :

85133013969. 1

85133013970. 2

85133013971. 3

85133013972. 4

Question Number : 43 Question Id : 8513303496 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



ot 39a o & B3I HFT &I BId BT U G 1641 4T & (3R ¢Rad) 79 81 &g Idd & 1h

1. Bl Ufaferd ol s

2. X1 wfcfera 9471 U= 98 &H IHS IS BRI
3. Widfeea &1 By HI g |

4. ST HET ¥ U & SRU of wiafag s
Options :

85133013969. 1

85133013970. 2

85133013971. 3

85133013972. 4

Question Number : 44 Question Id : 8513303497 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
A double convex lens with glass of refractive index 1.5 has both faces having the same radius
of curvature. If the focal length of the lens is 20 cm, the radius of curvature is

1. 40 cm
2. 30 cm
3. 20 cm
4,10 cm



Options :

85133013973. 1
85133013974. 2
85133013975. 3
85133013976. 4

Question Number : 44 Question Id : 8513303497 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

1.5 TP & Hid U & (B4 IYIITd o & GHI Bad| &I aebdl Hed] 9HH €1 3¢ 39 o9
1 BIHY I 20cm B, dl dsbdl 1 & -

1. 40cm
2. 30cm
3. 20cm
4. 10cm
Options :
85133013973. 1
85133013974. 2
85133013975.3
85133013976. 4

Question Number : 45 Question Id : 8513303498 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
In double slit experiment using light of wavelength 628 nm, the angular width of a fringe
formed on the screen is 0.1° The separation between the slits will be (m = 3.14)

1.36x1075m
2.36x107% m
3.36 x107% cm
4,36 x107* cm



Options :

85133013977. 1
85133013978. 2
85133013979. 3
85133013980. 4

Question Number : 45 Question Id : 8513303498 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
i AT & 628nm dTeE] &1 USRI UGN &3 W UG W 941 bl &1 ®iviig 9181 0.1° B
farRal & ol gY@ 8 (m = 3.14)

1.3.6 x1075m
2.3.6 x107*m
3.36 x107% cm
4,36 x107* cm
Options :
85133013977. 1
85133013978. 2
85133013979. 3
85133013980. 4

Question Number : 46 Question Id : 8513303499 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



The stopping potential (V) versus frequency (f) of incident radiation is plotted for two
photoelectric surfaces A and B. Then we can say that work function of A

A
\ A B

—pf

1. is equal to that of B

2. is greater than that of B

3. is smaller than that of B

4. cannot be related to that of B from the graph
Options :

85133013981. 1

85133013982.2

85133013983.3

85133013984. 4

Question Number : 46 Question Id : 8513303499 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



&l U@ faggd gl A 3R 8 & fom sufaa fafdwon @ emaf () ok FRish fava () & fa o
Wid MU §| 76 g9 &g Udd ¢ (& A BT /& PAHTA

A
\ A B

—pf

1.B ' HEbHAT & die o

2.B® HBaA U HUd g

L.BH PGB U HH g

4. 13 UP R B & dUba- 4 Y&idd el (a1 &l 9dhdl g
Options :

85133013981. 1

85133013982. 2

85133013983. 3

85133013984. 4

Question Number : 47 Question Id : 8513303500 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

A radioactive isotope has a half-life of T years. Time required to reduce its activity to 3.125% is

1. 3Ty

2.4Ty

3.5Ty

4. 6Ty
Options :
85133013985. 1



85133013986. 2
85133013987. 3
85133013988. 4

Question Number : 47 Question Id : 8513303500 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

ol YfEafufded gaeuiHe &1 ufg 79y 81 S9! Oiehadl &l 3.125 % I g4 H & aral
HEIH g9 & -

1.3TdY
2. 4T T4
3. 5Td4
4. 6TTY
Options :
85133013985. 1
85133013986. 2
85133013987. 3
85133013988, 4

Question Number : 48 Question Id : 8513303501 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The average energy of a neutron produced in fission of 33U in MeV is

1. 2 MeV
2.3 MeV
3. 4 MeV
4. 6 MeV
Options :
85133013989. 1
85133013990. 2



85133013991. 3
85133013992. 4

Question Number : 48 Question Id : 8513303501 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
2350 & [d@Us- H Iad Uh g2 &1 39d Hall gldi & ?

1. 2 MeV
2.3 MeV
3.4 MeV
4.6 MeV
Options :
85133013989. 1
85133013990. 2
85133013991. 3
85133013992. 4

Question Number : 49 Question Id : 8513303502 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Regarding the size of emitter region, base region and collector region of a transistor which of
the following statement is true?

1. Emitter = Collector > Base
2. Emitter > Collector = Base
3. Collector = Emitter = Base
4, Collector = Emitter = Base
Options :

85133013993. 1

85133013994. 2

85133013995. 3



85133013996. 4

Question Number : 49 Question Id : 8513303502 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

fareil Tiforer & I &7, STUR &7 3R YUIED &7 & Qg & [ava H =i f&ar mr oF
©YH Fel o7

1. 3Hu® = GURD > HYR
2. JHAD > TAE® > R
3. TIE® > Joaid = HUR
4, TIR®H > Joaoid > YR
Options :

85133013993. 1

85133013994. 2
85133013995. 3

85133013996. 4

Question Number : 50 Question Id : 8513303503 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Which of the following frequencies will be suitable for beyond-the-horizon communication
using sky waves?

1. 10 kHz

2. 10 MHz

3. 1GHz

4. 1000 GHz
Options :
85133013997. 1
85133013998. 2
85133013999. 3



85133014000. 4

Question Number : 50 Question Id : 8513303503 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
I T BT IR B & ¥ W TR & g FafdRad 5 9 SH 91 gkl 3ugd gz

1. 10kHz

2. 10MHz

3. 1GHz

4, 1000GHz
Options :
85133013997. 1
85133013998. 2
85133013999. 3
85133014000. 4

Part II Chemistry 3
Section Id : 85133043
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 50
Number of Questions to be attempted : 50
Section Marks : 200
Display Number Panel : Yes
Group All Questions : Yes
Mark As Answered Required? : Yes
Sub-Section Number : 1

Sub-Section Id : 85133047



Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 8513303504 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The correct structure of histamine is

HN
: 4\|\,‘L/\r~u-|2

Options :

85133014001. 1
85133014002. 2
85133014003. 3
85133014004. 4

Question Number : 51 Question Id : 8513303504 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



et o1 w5l Uea g -

' |-2‘I~|;B\/\|\1|-|2
HN

. &NE-\/\/NHE

> QE\/\NHE

K RE@\/NHE

Options :

85133014001. 1
85133014002. 2
85133014003. 3
85133014004. 4

Question Number : 52 Question Id : 8513303505 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The condensation of tetramethylenediamine and adipic acid gives

1. Nylon 6, 6
2. Nylon 4, 6
3. Nylon 2, 6
4. Nylon 2, 4
Options :
85133014005. 1
85133014006. 2
85133014007. 3



85133014008. 4

Question Number : 52 Question Id : 8513303505 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

U o @ Semie= SeudH @ T fufparadi g -

1. ISAA 6, 6
2. AEdAA 4,6
3. AEAH 2, 6
4. 30 2, 4
Options :

85133014005. 1
85133014006. 2
85133014007. 3
85133014008. 4

Question Number : 53 Question Id : 8513303506 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The most suitable catalyst used in the manufacturing of terelyne is

1. Zinc acetate

2. Zinc acetate- lithium oxide

3. Zinc acetate- antimony trioxide
4, Zinc acetate- lead oxide
Options :

851330140009. 1

85133014010. 2

85133014011. 3

85133014012. 4



Question Number : 53 Question Id : 8513303506 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
I & Idad H Wgdd giH aral Haiidd Sugdd SoRk® o -

1. i@ Udide

2. [ vdide - oiidnyg seaEs

3. i@ Udice - UfeaHl T eSS
4. o tdide - oS sauEs
Options :

85133014009. 1

85133014010. 2

85133014011. 3

85133014012.4

Question Number : 54 Question Id : 8513303507 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The correct structure of pyran is

Options :
85133014013. 1



85133014014. 2
85133014015. 3
85133014016. 4

Question Number : 54 Question Id : 8513303507 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
153 &1 gl W -

o I=

Options :

85133014013. 1
85133014014. 2
85133014015. 3
85133014016. 4

Question Number : 55 Question Id : 8513303508 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Select the correct option for the product(s) obtained on nitration of aniline using nitric acid,
sulphuric acid (both concentrated) at 288K.

MNHz

MH;
E ©,Noz
MH;
2.
@,NUZ
\ MO
NHz
’ @
NO5
MHz
4
MO5

Options :

85133014017. 1
85133014018. 2
85133014019. 3
85133014020. 4

Question Number : 55 Question Id : 8513303508 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



URel @1 A13fc® o auT erRd ofFd (GHT %) ¥ 288 K IR AISCIHRU B3 1R 3dd 3dlG
@) & e Tgt fadeg &1 99+ Difo -

MH;

MHz
NH=z

, NOgz, MO
MHz

MH;
2.
@,NUZ

\ MO
NHz

’ @

NO5
MHz

4

MO5

Options :

85133014017. 1
85133014018. 2
85133014019. 3
85133014020. 4

Question Number : 56 Question Id : 8513303509 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Which of the following does not give positive Tollen’s test?

1. Benzaldehyde
2. Acetophenone
3. Propanal

4. Salicyaldehyde
Options :
85133014021. 1
85133014022. 2
85133014023. 3
85133014024. 4

Question Number : 56 Question Id : 8513303509 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Fraffad 5 9 H 9 9BRIHS ola- UI&0 Sarg ?
1. §ifcSEES

Options :

85133014021. 1
85133014022. 2
85133014023. 3
85133014024. 4

Question Number : 57 Question Id : 8513303510 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



In the given reaction:

KMF'IOd_ - HESD4
@ Heat ol

‘A" (Major product) is

OH
HO

COOH
2. L
C O0H

COoH

3. LCGGH

O

OH

Options :

85133014025. 1
85133014026. 2
85133014027. 3
85133014028. 4

Question Number : 57 Question Id : 8513303510 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



frafcia siftichar #

KMF'IOd_ - HESD4
@ Heat ol

A (T 3AG) § -

OH
HO

COOH
2. L
C O0H

COoH

3. LCGGH

O

OH

Options :

85133014025. 1
85133014026. 2
85133014027. 3
85133014028. 4

Question Number : 58 Question Id : 8513303511 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



In the given reaction:

OH
@ Canc. HNGE

‘A" (Major product) is

OH
@TN%
OH
NO;

OH
: @
N

Oz
OH
NO,

o

GZNi;(NGE

Options :

85133014029. 1
85133014030. 2
85133014031. 3
85133014032. 4

Question Number : 58 Question Id : 8513303511 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 4 Wrong Marks : 1
<l T rftifsar |

OH
Conc. HMNGO,

A (A= IAG) E -

oH
1. NGz

OH
2‘ @
NO;
OH
3I ©\
NO
OH
0N NO;
=
NO5

Options :

85133014029. 1
85133014030. 2
85133014031. 3
85133014032. 4

Question Number : 59 Question Id : 8513303512 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is



Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

Which of the following is most acidic?

. HOT ™

OH

i/k
OH

Options :

85133014033. 1
85133014034. 2
85133014035.3
85133014036. 4

Question Number : 59 Question Id : 8513303512 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



FafaRad & ¥ &1 91 9aia® i o7

1. HO™ ™

OH

OH
4 /k

OH
Options :
85133014033. 1
85133014034. 2

85133014035. 3
85133014036. 4

Question Number : 60 Question Id : 8513303513 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



In the given organic reaction:

OH

Options :

85133014037. 1
85133014038. 2
85133014039. 3
85133014040. 4



Question Number : 60 Question Id : 8513303513 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

TS ®eEHE e §

OH
HaC ™
S0Cly -
OH
A (% 3d6) B
Cl
HaC™
1.
Cl
Cl
HaC™
2‘ @
OH
OH
HaC™
3I @
Cl
cl
HC”



85133014037. 1
85133014038. 2
85133014039. 3
85133014040. 4

Question Number : 61 Question Id : 8513303514 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
In the given organic reaction:

Br
Alz, KOH

—_—— _||:'q_
the major product ‘A’ is
1. M

2'/“\/J\

3. T

Options :

85133014041. 1
85133014042. 2
85133014043. 3
85133014044. 4

Question Number : 61 Question Id : 8513303514 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



S S ®EHE A §

Br

Ale. KOH
— = A

TH IAGAE

Options :

85133014041. 1
85133014042. 2
85133014043. 3
85133014044. 4

Question Number : 62 Question Id : 8513303515 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

How many sigma (o) and pi (m) bonds are present in the given molecule?
NC

(HaC)al

CH

1.290, 8n
2.280,8n
3.290, Tn
4. 280, Tn



Options :

85133014045. 1
85133014046. 2
85133014047. 3
85133014048. 4

Question Number : 62 Question Id : 8513303515 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
feu g 3y o foba faw (o) QYT UTE (n) MTE= JURYA & |
NC

(HaC)aC

oo
[
0o W0 0
9 8 9
~ o @

[ L I

g, 7

R

Options :

85133014045. 1
85133014046. 2
85133014047. 3
85133014048. 4

Question Number : 63 Question Id : 8513303516 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Ammonium molybdate is the reagent used to detect

1. Nitrogen as nitrate

2. Phosphorous as phosphate
3. Sulphur as sulphate

4. lodine as iodate

Options :

85133014049. 1

85133014050. 2

85133014051. 3

85133014052. 4

Question Number : 63 Question Id : 8513303516 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

IEIE Hiftlese Us e & foTue! Yai Ui gar g

1. 93¢ & ¥4 T gl &1 Udl o o
2. Ehe & ¥U H BRGRY &I Odl - J
3. Yelbe & ¥U H Hobx &I Udl T H

4, IS & ¥U H JAISH &1 ydr o o
Options :

85133014049. 1

85133014050. 2

85133014051. 3

85133014052. 4

Question Number : 64 Question Id : 8513303517 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



For the given organic reaction:

A, H*
CsH,Cl + Hz 22 o CuHg + HCI

Alls

1. Cu

2. Cu (1)

3.Zn

4. 7n (I
Options :
85133014053. 1
85133014054.2
85133014055. 3
85133014056. 4

Question Number : 64 Question Id : 8513303517 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

&1 715 Ble-d Hihal & fau

A H*
CsH,Cl + Hp 2 o C.Hg + HC

AT -

1. Cu

2. Cu(l)

3.Zn

4. Zn (1)
Options :
85133014053. 1
85133014054.2
85133014055. 3



85133014056. 4

Question Number : 65 Question Id : 8513303518 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Select the carrect statement.

1. cis-But-2-ene has higher boiling point than trans-But-2-ene.
2. cis-But-2-ene has lower boiling point than trans-But-2-ene.

3. cis-But-2-ene has lower dipole moment than trans-But-2-ene.
4. cis-But-2-ene is non-polar.

Options :

85133014057. 1

85133014058. 2

85133014059. 3

85133014060. 4

Question Number : 65 Question Id : 8513303518 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

el By &I 994 BIfT|

1. trans-8g2-2-31 U cis-o2-2-51 @] YD AUD B

2. trans- 4C-2-5 Bl HUE cis-G2-2-51 I DY HH |

3. trans- G'Id-g-'{:[ﬁ 30 CIS—G'ICF—E—EEI &1 fgya \3‘|T‘ELUT G
4. cis-&e-2-3 Yda B

Options :

85133014057. 1

85133014058. 2

85133014059. 3

85133014060. 4



Question Number : 66 Question Id : 8513303519 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The pH of the rain water is 5.6 due to the formation of

1. HaCO
2. Ha504
3. H250;
4. HNO3
Options :
85133014061. 1
85133014062. 2
85133014063. 3
851330140064. 4

Question Number : 66 Question Id : 8513303519 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

oo AT s dRUdY Sa i pH 568, I & :

1. HaCOs
2. H2504
3. H>50;
4, HNOj;
Options :
85133014061. 1
85133014062. 2
85133014063. 3
851330140064. 4

Question Number : 67 Question Id : 8513303520 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



The prefix peta used in the Sl system is

1. 1013
2.10713

3. 1018
4.10718
Options :
85133014065. 1
85133014066. 2
85133014067. 3
85133014068. 4

Question Number : 67 Question Id : 8513303520 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

S1UGid o o aral 399 Uel 8|

1. 101
2.10°13

3. 1018
410718
Options :
85133014065. 1
85133014066. 2
85133014067. 3
85133014068. 4

Question Number : 68 Question Id : 8513303521 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Which of the following statements is incorrect?

1. X-rays are produced effectively when electrons strike the dense metal anode.

2. X-rays are deflected by the electric and magnetic fields.

3. X-rays have a very high penetrating power through the matter.

4. X-rays are of very short wavelength (~0.1 nm) and possesses electromagnetic character.
Options :

85133014069. 1

85133014070. 2

85133014071. 3

85133014072. 4

Question Number : 68 Question Id : 8513303521 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Fofafed Y= 5 4 ®F 91 38d o

1. X - To0] wuIdt €11 U 304 Bidl & ofd, Saide Ju- 91 & TS W YeR &d e
2. Taggd au1 9@ 19 & T, X - [0l WY grf § [Gafed 8l o 1

3. X - fepeunt @t ueref & Uo- @ 2ied ¢ifd 3= eidl 8

4. X - TR0l Hd BT a1 ¢4 (0.1 mm) 1 Bldl § 3R degd & ™ A 3@dl |
Options :

85133014069. 1

85133014070. 2

85133014071. 3

85133014072. 4

Question Number : 69 Question Id : 8513303522 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Match List | with List 11

List | List Il
Different regions of the spectrum Frequencies
l. Radiofrequency A. 10° Hz
Il. Microwave B.10"3 Hz
lll. Ultraviolet region C. 107 Hz
IV. Infra-red region D. 10" Hz

Choose the correct answer from the options given below:

1. 1-B; II-A; 11-C; IV-D
2. 1-A; 1I-C; II-D; IV-B
3. 1-D; 1I-B; N-A; IV-C
4. 1-B; I-C; 1I-D; 1IV-A
Options :
85133014073. 1
85133014074. 2
85133014075. 3
85133014076. 4

Question Number : 69 Question Id : 8513303522 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



&1 | H fou Waer & fafid &sf @ oam 1 5 € s 3o snafual &1 fiae sifse

S HIH ||
EIELIEIEE A.10° Hz
I, ATSHIdd B. 10"3 Hz
1. TRTSTT &3 C.10'% Hz
V. 3R & D. 10"® Hz
T2l fad ey &1 99+ it :

1. 1-B; I-A; IN-C; IV-D
2. 1-A; 1I-C; 1II-D; IV-B
3. 1-D; 11-B; -4; IV-C
4. 1-B; II-C; II-D; IV-A
Options :
85133014073. 1
85133014074. 2
85133014075. 3
85133014076. 4

Question Number : 70 Question Id : 8513303523 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Select the correct statement.

1. Lothar Meyer plotted the physical properties against the atomic number and obtained a
periodically repeated pattern.

2. French geclogist, Chancourtois made a cylindrical table of elements to display the periodic
recurrence of properties.

3. Mendeleev realized that some of the elements did not fit in with his scheme of classification
if the order of atomic number was strictly followed.

4. Seaborg was awarded the Nobel prize in chemistry for his work and element 101 has been
named Seaborgium (Sg) in his honour.

Options :

85133014077. 1

85133014078. 2

85133014079. 3
85133014080. 4

Question Number : 70 Question Id : 8513303523 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

el hY- &1 994 BIfT|

1. TR - TR gR1 Afdd N T &1 9] 9= & [&3%E R Had] U6R & Rad
WEY DB

2. Th= Y - 93T o Bicigyd - dwdl B §eHIBR HRUM, I 10T &1 3fad| &4 4 TR
g, &2 & e =

3. Heold - Uga a1 i $% awd 39! F7fies vl orgeyl H 3fad ®IH =81 Uld 8, 3¢ W]
U & 4 BT A= AR fad1 9|

4. G 9F1 1 395 B & (U WWEH fagH # Fidd QREpR 241 747 3R d@ 101 &1 A4 3%
T H diergd @1 |

Options :

85133014077. 1

85133014078. 2




85133014079. 3
85133014080. 4

Question Number : 71 Question Id : 8513303524 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The Lewis structure of O3 is

1

3/\

The correct option of the formal charge on oxygen atom 1, 2 and 3, respectively, is

1. +1,0, -1
2.-1,0, +1
3.+1,-1,0
4.0, +1, -1
Options :
85133014081. 1
85133014082. 2
85133014083.3
85133014084. 4

Question Number : 71 Question Id : 8513303524 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



0y DI G359 W18

1

3/\

HIFHISH WA 1.2 997 3 R HHFTHEE S92 &1 Yl fdbed g

1. +1,0, -1
2.-1,0, +1
3.+1,-1,0
4.0, +1, -1
Options :
85133014081. 1
85133014082. 2
85133014083. 3
85133014084. 4

Question Number : 72 Question Id : 8513303525 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Match List | with List 11

List | List 11
Hydrides Examples
. Saline hydrides A HF
Il. Electron deficient molecular hydrides B. BaHg
lIl. Electron rich molecular hydrides C. CrH
IV. Interstitial hydrides D. BeH>

Choose the correct answer from the options given below:

1. 1-A, 1-D, I-C, IV-B
2. 1-D; 11-B; NI-A; IV-C
3. 1-D; 1I-B; NI-C; IV-A
4. 1-A; 11-D; 11-B; IV-C
Options :
85133014085. 1
85133014086. 2
85133014087. 3
85133014088. 4

Question Number : 72 Question Id : 8513303525 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



HICH | & AT BT SIgs! @l [HaH HIaH || & 3ae Ul § DIfol -

HIcH | HICH ||
. TaUIT BIEslse A . HF

1. SAideH < AU gEgEe Y94 B. ByHg
Il. 3oideE 99 HfUad glgsee C. CrH

V. AR BlESleC D.BeH;
Hel A © -

1. 1-A, 1I-D, I-C, IV-B
2. 1-D; 11-B; 1-4; IV-C
3. 1-D; 11-B; -C; IV-A
4. 1-A; 11-D; 11-B; 1IV-C
Options :
85133014085. 1
85133014086. 2
85133014087. 3
85133014088. 4

Question Number : 73 Question Id : 8513303526 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Identify the reactants A, B, and C in the following reaction:

600 — 800°C

A+B+C - BeCl; + gas

1. BeQO + Cl0

2 Be + CO + Clp
3.BeQO + Clm + SO»
4Be0 + Cly + C
Options :

85133014089. 1
85133014090. 2
85133014091. 3
85133014092. 4

Question Number : 73 Question Id : 8513303526 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
fFrafciaa aififshar # ftfea® A, B 7YUT C BT SAHHYRO BifST -
600 — 800°C

A+B+C - BeCly + gas

1.BeO + (0

2 Be + CO + Clp
3.BeO + Clm + S0O»
4. BeO + Cla + C
Options :

85133014089. 1
85133014090. 2
85133014091. 3
85133014092. 4



Question Number : 74 Question Id : 8513303527 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The solubility of LiF and Csl in water is ....... X...... and ....Y......, respectively.
The magnitudes of X and Y, respectively, are

1. X = low, Y= high

2. X =low, Y = low
3.X = high,Y = low
4. X = high , Y = high
Options :
85133014093. 1
85133014094. 2
85133014095. 3
85133014096. 4

Question Number : 74 Question Id : 8513303527 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
LF TUT C<l 1 dTd | foadT SH: X JUTY §1 X dYT v & URAN § |, Bk

1. X=-44,Y =Jd=
2X=-"A4, ¥ =4
3. X=3= Y =
4 X=v3d ¥ =3dd
Options :
85133014093. 1
85133014094. 2
85133014095. 3
85133014096. 4




Question Number : 75 Question Id : 8513303528 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The correct electronegativity order of Al, Ga, In and Tl at Pauling Scale is

1TL.Al<Ga<In<Tl
2Ga<Al<In<Tl
3.In < Tl< Al < Ga
4 Al <In< Ga<TI
Options :
85133014097. 1
85133014098. 2
85133014099. 3
85133014100. 4

Question Number : 75 Question Id : 8513303528 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
GITeiT Ag OR Al Ga, In GYT Tl @1 [dGgd BUEHdl & Uel Y 5

TAl<Ga<In<Tl
2Ga<Al<In<Tl
3.In<Tl< Al < Ga
4 Al <In<Ga<Tl
Options :
85133014097. 1
85133014098. 2
85133014099. 3
85133014100. 4

Question Number : 76 Question Id : 8513303529 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is



Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

The incorrect statement for Cgpis

1. It contains twenty six-membered rings and twelve five-membered rings
2. A five-membered ring can fuse with six or five-membered rings

3. A six-membered ring is fused with six or five-membered rings

4, All the carbon atoms are equal and undergo sp? hybridisation

Options :

85133014101. 1

85133014102. 2

85133014103. 3

85133014104. 4

Question Number : 76 Question Id : 8513303529 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Ceo @ [OTE 30T Y B

1. 398 B: - o gadi & OEd] §1Y oyl Uid - et gad @ 9] 9XE & |
2. U Uid Yo el aod , ©: 91 Uid 9awil dadl 4 Tierd ol 9adl o

3. U9 ©: Yodll 904, ©: I1 Uid Yaw aadl § 9ferd gidl o

4. gl DIE- URH] GHH § 3R 3ADI sp® G0l 6|

Options :

85133014101. 1

85133014102. 2

85133014103. 3

85133014104. 4

Question Number : 77 Question Id : 8513303530 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



What are fractions of nickel existing as NiZ* and Ni** ions in NigesO1.00

1. Ni** = 89.48%, Ni** = 10.52%
2. Ni?* = 10.52%, Ni** = 89.48%
3. Ni?* = 91.6%, Ni** = 8.4%

4, Ni** = 8.4%, Ni** = 91.6%
Options :

85133014105. 1

85133014106. 2

85133014107. 3

85133014108. 4

Question Number : 77 Question Id : 8513303530 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Ni 005 O 1.0 H SURYT Fdbel o, Ni2* YT Ni** 31 & 3% H1 87

1. Ni¢* = 89.48%, Ni** = 10.52%
2. Ni?* = 10.52%, Ni** = 89.48%
3. Ni?* = 91.6%, Ni** = 8.4%

4, Ni** = 8.4%, Ni** = 91.6%
Options :

85133014105. 1

85133014106. 2

85133014107. 3

85133014108. 4

Question Number : 78 Question Id : 8513303531 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



The alloy, german silver contains

1. Cu, Zn and Ni
2. Cu, Zn and Ag
3. Cuand Zn

4. Cu and Ni
Options :
85133014109. 1
85133014110. 2
85133014111. 3
85133014112.4

Question Number : 78 Question Id : 8513303531 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

forsiTg o R & gaifay gid €1

1. Cu, Zn and Ni
2. Cu, Zn and Ag
3.Cu and Zn

4, Cu and Ni
Options :
85133014109. 1
85133014110.2
85133014111.3
85133014112. 4

Question Number : 79 Question Id : 8513303532 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Which one of the following generally does not form a single bond with the atom of the same
element?

1.P

2. As

3.5b

4. Bi

Options :
85133014113. 1
85133014114. 2
85133014115.3
85133014116. 4

Question Number : 79 Question Id : 8513303532 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Fafafad o O &4 91 38 dd & U] Y Uhd HEH el &-1d] 87

1. P

2. As

3.5b

4. Bi

Options :
85133014113. 1
85133014114. 2
85133014115.3
85133014116. 4

Question Number : 80 Question Id : 8513303533 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



The correct order of negative electron gain enthalpy of group 16 elements is

1.0=Te =5 =<5
2Te<Se«<0<«<h
30=Te =5 <= 5e
4 5% «<Te«<0«5h
Options :
85133014117. 1
85133014118.2
85133014119. 3
85133014120. 4

Question Number : 80 Question Id : 8513303533 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

T4 16 o dedl DI BUTHD Scide Jia TAedl BT Uel HH g

1.O<=Te<Se <5
2Te<Se<0<5
30<«<Te<S=<=5e
4 5 <Te<=0=<5
Options :
85133014117. 1
85133014118. 2
85133014119. 3
85133014120. 4

Question Number : 81 Question Id : 8513303534 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Which one of the following oxo-acids of halogens is NOT formed?

1. HOFO

2. HOCIO

3. HOBrO>

4. HOIO;
Options :
85133014121. 1
85133014122. 2
85133014123.3
85133014124. 4

Question Number : 81 Question Id : 8513303534 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
fFrafciiad gaoHl & SfTaEl - 3l J 9 S8 U 781 a4l 52

1. HOFO

2. HOCIO

3. HOBrO»

4, HOIO;
Options :
85133014121. 1
85133014122. 2
85133014123.3
85133014124. 4

Question Number : 82 Question Id : 8513303535 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



A is a colourless explosive solid. A is

1. XeFa

2. XeF>

3. XeOF4

4. XeO;
Options :
85133014125. 1
85133014126. 2
85133014127.3
85133014128. 4

Question Number : 82 Question Id : 8513303535 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

A U6 TTeH [GEpicI 3Bl A © -

1. XeFy

2. XeF;

3. XeOF,

4, KeOy
Options :
85133014125. 1
85133014126. 2
85133014127. 3
85133014128. 4

Question Number : 83 Question Id : 8513303536 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



X. Y and Z in the following reactions are:

MnO, + ¢ X
MnOy +4H" + 3¢ Y
MnO, +8H" + Se’ Z

1.X=Mn®", Y=MnOz Z=Mn0OZ
2.X=MnOy Y=Mn"", Z=Mn0Z
3.X=MnOs Y =MnOg, Z=Mn**
4.X = MnOs>, ¥ =MnOs, Z=Mn**
Options :

85133014129. 1

85133014130. 2

85133014131. 3

85133014132. 4

Question Number : 83 Question Id : 8513303536 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



fofeiag sfifeaai g x, v, z AR &:
MnO, +e& —— X

MnOy4 + 4H" + 3¢ Y

MnO,; +8H +5¢ — » Z

1.X=Mn®", Y=MnOz Z=Mn0OZ
2.X=MnOy Y=Mn"", Z=Mn0Z
3.X=MnOs Y =MnOg, Z=Mn**
4.X = MnOs>, ¥ =MnOs, Z=Mn**
Options :

85133014129. 1

85133014130. 2

85133014131. 3

85133014132. 4

Question Number : 84 Question Id : 8513303537 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Identify the incorrect statement about the postulates given by A. Werner.

1. Metals show two types of linkages in coordination compounds.

2. The primary valences are ionisable and are satisfied by positive ions.

3. The secondary valences are non-ionisable.

4. The ions/groups bound by the secondary linkages to the metal have characteristic special
arrangements corresponding to different coordination numbers.

Options :

85133014133. 1

85133014134.2

85133014135.3



85133014136. 4

Question Number : 84 Question Id : 8513303537 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

T 3R gRI1 ol 7T SfHyRomst & d9ey 7 30d &Y= &I Ugai-g|

1. SUHEHAIeH Tl H UIgd &l YR &I Ggaqdl a2l g |
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4. fedTae Sgagarsl aR1 g ¥ Sfed ST / i ®1 sifrenaitn 9y sga=T gidi ¢ off [afvs
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Options :

85133014133. 1

85133014134. 2

85133014135. 3

85133014136. 4

Question Number : 85 Question Id : 8513303538 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
When dissolved in 20 g of benzene (CgHg), 1 g of AB; lowers the freezing point by 3 K whereas
1 g of AB4 lowers it by 2 K. The atomic mass of B is u.

(Given: Molal depression constant for benzene = 5.1 K kg mol™)

1. 21.25
2.33.92

3. 42.65
4.52.11
Options :
85133014137. 1



85133014138.2
85133014139.3
85133014140. 4

Question Number : 85 Question Id : 8513303538 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

20g S H 1g AB, @I Uit UR SUPI [8HI® 3K 92 IIdI &, Jaid AB, &I 1g TUD| 2K T
GG

B ] IRA UBfd B : -
fEm g 3= S Hie S RR® 5.1 Kkg m -1)

1. 21.25
2.33.92
3. 42.65
4.52.11
Options :
85133014137. 1
85133014138.2
85133014139. 3
85133014140. 4

Question Number : 86 Question Id : 8513303539 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Choose the correct statement from the following.

1. Nitric acid (68%) and water (32%) is an example of a minimum boiling azeotrope.

2. Osmosis can be reversed if pressure lower than the osmotic pressure is applied to the
solution.

3. As compared to other colligative properties, the magnitude of osmotic pressure is large
even for very dilute solutions.

4. The condition of anoxia in mountain climbers is an application of Raoult’s law.

Options :

85133014141. 1

85133014142.2

85133014143.3

85133014144. 4

Question Number : 86 Question Id : 8513303539 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

afafad # O 98 sy 5

1. AISCH 3T (69 %) TUT Id (32 %) U JaTexvl Hydd Y & RRE &1

2. 3¢ AR §1F ¥ &4 G4 Ao W @l o df R 36hiid 8 odl &

3. = AU TUIHT B S{UEHT, GRRRUT GTd & GIRHT 3id 9 [l & e ol 58d 8l g1
4, TadRifedt o SEIEd B 3[aw, A3 & 190 &I 1P HHd gl

Options :

85133014141. 1

85133014142. 2

85133014143.3

85133014144. 4

Question Number : 87 Question Id : 8513303540 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Choose the incorrect statement from the following

1. For ideal gas, Z = 1 at all temperatures and pressures.

Vooai
z — FEdL
= v

ideal

3. The graph of Z vs p will be a straight line with negative slope for an ideal gas.
4. At very low pressures, all gases have Z = 1 and behave as ideal gas.

Options :

85133014145. 1

85133014146. 2

85133014147. 3

85133014148. 4

Question Number : 87 Question Id : 8513303540 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Fafiead 3 ¥ 39d dy= 94U
1. G 79 & fog, @i auf qur g W z = 1 Bidl 8|

Vo sai
7 = real
2 V.

ideal

3. e T & U Z vs P 3MTCRE BUNHS AT &I I @ BT

A4 FAGE RN T & Wz ~ 1 A1 8, 3IR 3@ IdeR e g o sidl o
Options :

85133014145. 1

85133014146. 2

85133014147. 3

85133014148, 4

Question Number : 88 Question Id : 8513303541 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Four gases Oz, CO;, Nz and NHz have the critical temperatures (all in K) 154, 304, 126, 406
respectively. The correct order for the magnitude of intermolecular forces is

1. Ngﬂ: Dgﬂi C':lgf: NH;
2. Ngﬂ: Dgﬂi NH3 = C{:}g
3. NH;*: C{:}gﬂi {:}2{ N2
4 C'Dz-:: Clzf: NH;-:i N2
Options :

85133014149. 1
85133014150. 2
85133014151.3
85133014152. 4

Question Number : 88 Question Id : 8513303541 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
IR 791 05 CO, N, TUT NH; I Shifdd aid (K H ) AT 154, 304, 126 TUT 406 € R HAUaD
9al &1 9gl A 8

1. Ngﬂ: DE‘: Csz: NH;
2. Ngﬂ: DE‘: NH3 = C{:}g
3. NH;*: C{:}gﬂ: {:}2-:: Ng
= C{:}g-{ szi NH3<: Ng
Options :

85133014149. 1
85133014150. 2
85133014151. 3
85133014152. 4

Question Number : 89 Question Id : 8513303542 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



The heat required (in kJ) to raise the temperature of 54 g of Al from 30°C to 50°C is (Given:
Molar heat capacity of Al is 24 J K= mol™)

1. 960

2.073

3.096

4.9.25
Options :
85133014153. 1
85133014154. 2
85133014155.3
85133014156. 4

Question Number : 89 Question Id : 8513303542 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Al ® 54g BT Y 30° C Y 50° C I ¢ & [od TGP HW (K) ) 7 : ([BA1 & Al DI AR
S UMAr24 J KT mol ™)

1. 960

2.0.73

3. 0.96

4.9.25
Options :
85133014153. 1
85133014154.2
85133014155.3
85133014156. 4

Question Number : 90 Question Id : 8513303543 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Choose the incorrect statement out of the following.

1. A.G = 0 is the criteria for equilibrium.

2. Second law of thermodynamics explains why spontanecus exothermic reactions are so
commaon.

3. AU can discriminate between reversible and irreversible process

4. The heat released in reaction Ca0 (s) + C0,(g) — CaC04(s) is not the enthalpy of
formation of CaC0;.

Options :

85133014157. 1

85133014158. 2

85133014159.3

85133014160. 4

Question Number : 90 Question Id : 8513303543 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Fafaedd ¥ sa &Y 5

1. A,G =0 Ty & [T AFES B

2. ITIid®! @1 fgd Fom oare @xdl & & w@a: nafda Seadt sifufdar ot gay ot
gl

3. AU SEhHUIE TYT SIchAug UHHl 3 4 @ 9®d o

4. HfHFHTT €a0 (s) + €0,(g) — CaC0,(s) H Had HWHI CaCO; DI faa- WAl el 2|

Options :

85133014157. 1

85133014158, 2

85133014159. 3

85133014160. 4

Question Number : 91 Question Id : 8513303544 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 4 Wrong Marks : 1

In the reaction
Oxidant and reductant respectively are.

1. H202, NaHa
2. H203, N>

3. NaH4, H20
4. NaHa H202
Options :
85133014161. 1
85133014162. 2
85133014163. 3
85133014164. 4

Question Number : 91 Question Id : 8513303544 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
HATURBAT N,H (1) +2H,0, — Ny(g) + 4H,0 (D)

T HRIHR® IUT HTAHD & , HHTL: -

1. H>Op, NzH4
2. H203, N2

3. NaHa, H20
4. NaHg H2032
Options :
85133014161. 1
85133014162. 2
85133014163. 3
85133014164. 4



Question Number : 92 Question Id : 8513303545 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Match List I with List I

List | List Il
Reactions Type of Reactions
l. As:03 + 3H>5 — As>S3(50l) + 3H-0 A. Oxidation
. FeClz + 3H-0 — Fe(OH)s(sol) + 3HCI B. Reduction
C. Double

Il. SO + 2H25 — 35 (sol) + 2H0 »
decomposition

IV. 2AuClz+ 3HCHO + 3H>0— 2Au (sol) +

D. Hydrolysis
3HCOOH + 6HCI

1. 1-C; 1I-D; 1I-B; IV-A
2. 1-C; 1I-D; 1-A; IV-B
3. 1-D; I-C; 1-A; IV-B
4. 1-D; I-C; I-B; IV-A
Options :
85133014165. 1
85133014166. 2
85133014167. 3
85133014168. 4

Question Number : 92 Question Id : 8513303545 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



®Iad | 7 3t 715 FRufafad situfearst &1 faam sfifear & uoR foad ag ondi 8 (saan |
fGu g) 9 difo :

DI | DI Il

. As203 + 3H55 — As»S3(sol) + 3H-0 A, HTFH R

II. FeClz + 3H20 — Fe(OH)s(sol) + 3HCI B. HUTTH
c.fgd

IIl. SO + 2H3S5 — 35 (sol) + 2H0 P

V. 2AuClz+ 3HCHO + 3H20— 2Au (sol) + 3HCOOH + |D.wd

6HCI 3Hqged

iq%pffﬁ?lﬁé

1. 1-C; I-D; 1I-B; IV-A
2. 1-C; 1I-D; -A; IV-B
3. 1-D; I-C; 1-A; IV-B
4. 1-D; -G I-B; IV-A
Options :
85133014165. 1
85133014166. 2
85133014167. 3
85133014168. 4

Question Number : 93 Question Id : 8513303546 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which one of the following is an example of a positively charged sol?

1. Haemoglobin
2. Acid dye eosin
3. CdS

4. Gold sol



Options :

85133014169. 1
85133014170. 2
85133014171. 3
85133014172. 4

Question Number : 93 Question Id : 8513303546 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Fofafad 5 4 oF91 ¥9rd® Sag AT 9id g 7

1. SrARalfeA

2. 3F I99® AN
3. Cds

4. 7lies 91
Options :
85133014169. 1
85133014170. 2
85133014171.3
85133014172. 4

Question Number : 94 Question Id : 8513303547 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which of the following graph is incorrect?

slope = -E_/R
1. Ink

0t



For a first order reaction
log [F]/TR] k= slope x2.303
2
0 time
concentration for a first order reaction
3. of reactant

time

for zero order reaction

concentration - slope
4~ of reactant

time
Options :
85133014173. 1
85133014174. 2
85133014175.3
85133014176. 4

Question Number : 94 Question Id : 8513303547 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is



Question Mandatory : No Single Line Question Option

Correct Marks : 4 Wrong Marks : 1

Faftiad 3 9 S 6RE THd § 2

1. Ink

slope = -E_/R

0t

log [R]/[R]

For afirst order reaction

k= slope x2.303

concentration
3 of reactant

concentration
4, of reactant

time

for a first order reaction

time

for zer order reaction

k = - slope

: No Option Orientation : Vertical



time
Options :
85133014173. 1
85133014174. 2
85133014175.3
85133014176. 4

Question Number : 95 Question Id : 8513303548 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

In an enzyme solution, sucrose undergoes fermentation. If 0.10 mol/L solution of sucrose is
reduced to 0.05 mol/L in 10 hours and to 0.025 mol/L in 20 hours, then the rate constant of
the reaction will be

1.23 x 1072 5!

2.19 x 1075~

3.19 x 102 mol~ T L]
4.23%x10 2 mol 'Ls™!
Options :

85133014177. 1
85133014178. 2
85133014179. 3
85133014180. 4

Question Number : 95 Question Id : 8513303548 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



U TogH fdegH H gebid &1 [ va gial 51 TiG 0.1 mol / L Yh1E 1 40 Ue &R 10 U H
0.05 mol/ L 3R 20 € H 0.025mol/ L B SIIdT & df Sifufdrar o a2 RRi® (Rdcad) 8 -

1.23 x 1072 !

2.19x 1072 5™

3.19 x 102 mol~ T Ls™]
4.23x 102 mol ' Ls™!
Options :

85133014177. 1
85133014178. 2
85133014179. 3
85133014180. 4

Question Number : 96 Question Id : 8513303549 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The extent of dissociation of PCls at a certain temperature is 20% at 1 atm pressure. The
pressure (in atm) at which this substance is half dissociated at the same temperature is closest
to

1.0.356
2.0.123

3. 0.789
4.0.321
Options :
85133014181. 1
85133014182.2
85133014183.3
85133014184. 4

Question Number : 96 Question Id : 8513303549 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 4 Wrong Marks : 1

U [Ed a9 U7 1atm QI8 W PCls & [d9e 3 91 20% &1 39 Uy & 341 919 U1 319
faged & foU H1999® a1d (atm ¥ ) Mdead B

1. 0.356
20127
3.0.789
4.0.321
Options :
85133014181. 1
85133014182. 2
85133014183.3
85133014184. 4

Question Number : 97 Question Id : 8513303550 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The pH when 1 mL of 13.6 M HCl is diluted with water to give 300 mL of solution is closest to
(Given:log 9 = 0.95; log 2 = 0.3010)

1. 2.349
2. 1.882
3. 1.346
4. 4501
Options :
85133014185. 1
85133014186.2
85133014187. 3
85133014188. 4

Question Number : 97 Question Id : 8513303550 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 4 Wrong Marks : 1

1 ml 13.6 M HCI @1 9d § 91 &b & 300 mL 909 31 pH Fdead 81 (61 - log 9 =
0.95; log 2 = 0.3010)

1. 2.349

2. 1.882
3.1.346

4. 4501
Options :
85133014185. 1
85133014186. 2
85133014187. 3
85133014188. 4

Question Number : 98 Question Id : 8513303551 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which of the following statements about chemisorption is correct?

1. The chemical bonds in chemisorption are always covalent in nature.

2. Chemisorption is also known as activated adsorption.

3. Chemisorption decreases with increase of temperature.

4. Chemisorption results in multimolecular layers on adsorbent surface under high pressure.
Options :

85133014189. 1

85133014190. 2

85133014191. 3

85133014192. 4

Question Number : 98 Question Id : 8513303551 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



frafefad oyl § € & 91 Wiy & e aa g

1. THIGRIYU H IMAHD Ma=i &I Uhid &l Ge9dieid ldl &

2. JHIGRN] & HihAd HU=E & &g H i oHd B

3. THIGRNYU, 919 §¢- R Uedl &

4, I=Ed IR GG & hokawd HULNS & Ydg W 98 3fUad URd YT sidl g |
Options :

85133014189, 1

85133014190, 2

85133014191. 3

85133014192, 4

Question Number : 99 Question Id : 8513303552 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The molar conductance (in S m?mol™) at infinite dilution (A7) for Ba(OH); is

(Given: A (yoom = 248.1x 107* S mmol™"; 47, =126.5x 107* S m?mol™;

(Nacl)
A (Bacty = 280.0x 1074 S m?mol ™)

1.402.2x 1074
2.2753x107¢
3.523.5x%x107¢
4, 6497 x 1074
Options :

85133014193. 1
85133014194. 2
85133014195. 3
85133014196. 4

Question Number : 99 Question Id : 8513303552 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is



Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

Ba (OH); @1 3-d d-dl IR HIeR dIeidhdl ( A°m SmZmol TH) 8
ez -

A vaomy = 248.1x 1074 S m?mol ™

A vacn=  126.5x 1074 S m?mol~;

280.0 x 107* S m?mol ™)

M (Bacl)

1.402.2 x 1074
2.2753x107¢
3.5235x%x10°¢
4.649.7 x 1074
Options :

85133014193. 1
85133014194. 2
85133014195. 3
85133014196. 4

Question Number : 100 Question Id : 8513303553 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The conductivity of 0.0024 mol/L solution of methanoic acid is 110 x 107° S cm™". The degree
of dissociation of weak acid is {Given: A",+= 350 Sem®mol™!; A ;000- = 55 Scm?mol ™}

1. 0.981
2.0.792
3. 0.113
4. 0.501
Options :



85133014197. 1
85133014198. 2
85133014199. 3
85133014200. 4

Question Number : 100 Question Id : 8513303553 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

TYHISS HE b 0.0024 mol/L [0 B ITeidbal 110 X 109 Sem™ 81 Gad 3 &1 fadie aE
Bl

@8- A y+= 350 SemZmol™; A yepo-= 55 Secm2mol™)

1. 0.981
2.0.792
3.0.113

4. 0.501
Options :
85133014197. 1
85133014198. 2
85133014199. 3
85133014200. 4

Part I1I Biology 3
Section Id : 85133044
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 50
Number of Questions to be attempted : 50

Section Marks : 200



Display Number Panel : Yes

Group All Questions : Yes
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 85133048
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 8513303554 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The term “Ecclogy” was first time used by

1. R. Mishra

2. E. Haeckel
3. EP. Odum
4, H. Reiter
Options :
85133014201. 1
85133014202. 2
85133014203. 3
85133014204. 4

Question Number : 101 Question Id : 8513303554 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

“THIall HYT Fauyd Fg 3 wghT B ot

1. 3R, faem
2.3. 8

3.3. Ut 3tsH
4,79, e
Options :
85133014201. 1



85133014202. 2
85133014203. 3
85133014204. 4

Question Number : 102 Question Id : 8513303555 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Exudation of water droplets on the tips and edges of plant leaves is called
guttation. It is caused by root pressure that forces more water to enter leaves than is
transpired.

Statement lI: Transpiration is a ‘pulling” process, hence exploration of the rise of xylem sap by
cohesion-tension mechanism begins not with roots but with leaves, where the driving force for
transpirational pull begins.

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement | and Statement Il are correct

2. Both Statement | and Statement Il are incorrect
3. Statement | is correct but Statement Il is incorrect
4. Statement | is incorrect but Statement Il is correct

Options :

85133014205. 1
85133014206. 2
85133014207. 3
85133014208. 4



Question Number : 102 Question Id : 8513303555 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
4 <l dY fleu TE g

HYA| -

qref & ufaal & RRI U Sy §al &1 9a & U J 9eR Mol [9asdd dedld 6| 98 ofsl gRlI
U1 U U3 dicl gdld o gold aidl a1 Fogd arsgicdeiH 81 9 |

DU -

Iicgei Rd=Td Ufshal 8, 34T GIF g &1 3WR 9641 DigH - <3 [t F31 I 71 UR™ gl
Uit & AT f5haT t PRU BT &

IR YA & YR R el fddedid I 94|

1. BYT - | TUTHYT - | T g

2. GHI PY - | AUTHYT - 1| AT 5l

3. PYF - | 9 & dich Y - 1| IEI B
4. BYF - | AT g i Y - 11 G B
Options :

85133014205. 1

85133014206. 2

85133014207. 3

85133014208. 4

Question Number : 103 Question Id : 8513303556 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Microtubules arrangement in Eukaryotes is

1. 9+1

2. 8+2

3. 8+0

4 8+1
Options :
85133014209. 1
85133014210. 2
85133014211. 3
85133014212. 4

Question Number : 103 Question Id : 8513303556 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

gaiafe § ger AR &1 54 9 gl o

1. 9+1

2.9+2

3.9+0

4. 8+1
Options :
85133014209. 1
85133014210. 2
85133014211.3
85133014212. 4

Question Number : 104 Question Id : 8513303557 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Which of the following are incorrect about natural selection?

A, It is a process in which individuals with certain heritable traits survive and reproduce at a
higher rate than do other individuals

B. It is a process that occurs through interactions between individuals and their environment
resulting in the evolution of individuals

C. It is a process that can over time, increase the frequency of favourable adaptations in a
given environment

D. It is a process that disrupts the adaptation of individuals to a new environment

E. Natural selection may lead to speciation

Choose the correct answer from the options given below

1. A and B only
2. B and D only
3. D and E only
4. Cand E only
Options :
85133014213. 1
85133014214. 2
85133014215.3
85133014216. 4

Question Number : 104 Question Id : 8513303557 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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. Ufsh a1 &l Siial qul 3d aiarul & WRER f6a1 9 Sifdl & [der H 9@ o
. Ufeh a1 forad SHAIMRI SHSid sldx YbRIA® 0N & 98- sidl g
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4. Wi idd 99+ Sifd 3aa- H GgE® gidl o
g fad ety 3 9 -

1. B A AU §
2. Paa e aul g
3. Had G adT g
4 Haa AUy
Options :
85133014213. 1
85133014214. 2
85133014215. 3
85133014216. 4

Question Number : 105 Question Id : 8513303558 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

“Persistent calyx” is the characteristic feature of the family

1. Lamiaceae

2. Solanaceae
3. Poaceae

4, Cyperaceae



Options :

85133014217. 1
85133014218. 2
85133014219. 3
85133014220. 4

Question Number : 105 Question Id : 8513303558 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

WHE< bagy -~ (99 31 Fguar g

Options :

85133014217. 1
85133014218. 2
85133014219. 3
85133014220. 4

Question Number : 106 Question Id : 8513303559 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Match List | with List 1]

List | List 1l
A, Zearalenone . Penicillium viridicatum
B. Trichothecenes l. Fusarium moniliforme
C. Aflatoxins IIl. Cephalosporium
D. Ochratoxins V. Aspergillus flavus

Choose the correct answer from the options given below

1. A-(1), B-(I1), C-(1), D-(IV
2. A-(I1), B-(ln), C-(1v), D-(I
3. A-(lI, B-(1V), C-(11), D-(1
4. A-(IV), B-(1), C-(I1), D~
Options :

85133014221. 1
85133014222. 2
85133014223.3
85133014224. 4

[ -

Question Number : 106 Question Id : 8513303559 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Gt - | BT gl -1l o HrY FAeH &R -

gl - | Tl - 1l

H. ey . U aedidier
4. TR dIUIgg 1. PURTH HFHIH
. {UTel e 1. Fyperaiiay
FREIFIEIESE! V. TR Teiad
Eﬁﬁwaﬂ_{ﬁ :

1.H-1,d-1L"H-1, G-IV
29 -1, d-1,89-1V,q-I
3.9-1,d-1IV,H-1l,q-1
4. 3-1Iv,d-1L, -1, q-1l
Options :

85133014221. 1
85133014222. 2
85133014223.3
85133014224. 4

Question Number : 107 Question Id : 8513303560 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Which one of the following anticodons are used for the translation of t-RNA during the
biosynthesis of haemoglobin in sickle cell anemic patients?

1. CAC

2. CUC

3. GUG

4. GAG
Options :
85133014225. 1



85133014226.2
85133014227.3
85133014228. 4

Question Number : 107 Question Id : 8513303560 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

e doT U H feARTIieH & Giuvl 8 9 DISH t - RNA Y90 H G981 ¢

1. CAC

2. CUC

3. GUG

4. GAG
Options :
85133014225. 1
85133014226.2
85133014227. 3
85133014228. 4

Question Number : 108 Question Id : 8513303561 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Select correct steps used in the preparation of immobilized cells

A, Cell Maobilization

B. Permeabilization

C. Growth of Cells

D. Immobilization

E. Calibration

Choose the correct answer from the options given below

1. A, B and C only
2.B,Cand D only
3.C, D and E only
4. A, Dand E only
Options :
85133014229. 1
85133014230. 2
85133014231.3
85133014232. 4

Question Number : 108 Question Id : 8513303561 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



RIS BRG] & § Ugad Ugl I 99+ B3|
3. DI AlfdagazH

4. ORIl

Y. DD Ie

G. o

g S HYR

el [doeda IR

1. $aq 3, 9a4d g
2. %dd §, 9adl g
3. 5909, qaad g
4, %ad 3, gaury
Options :
85133014229 1
85133014230. 2
85133014231. 3
85133014232. 4

Question Number : 109 Question Id : 8513303562 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



During growth the contents of a nucleus in human body undergo profound changes. How
many chromatids does it contain?

1. 96

2. 23

3.46

4,92

Options :
85133014233. 1
85133014234. 2
85133014235.3
85133014236. 4

Question Number : 109 Question Id : 8513303562 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
39 4 3 $ ERM 55 | 3P URad- 8ld 8, $9H B o UG B1d &

1. 96

2. 23

3. 46

4,92

Options :
85133014233. 1
85133014234.2
85133014235.3
85133014236. 4

Question Number : 110 Question Id : 8513303563 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Match List | with List 1]

List | List 11
A. Colonial algae .. Cycas
B. Agar Il. Sphagnum
C. Coralloid root ll. Gelidium
D. Peat V. Volvox

Choose the correct answer from the options given below

A-(1), B-(1), C-(1, D-(1V)
A-(1), B-(1), C-(1V), D-(ln)
A-(IV), B-(Il1), C-(1), D-(1n)
- A-[III] -(IV), C-(IN), D-(1)
Options :

85133014237. 1
85133014238. 2
85133014239. 3

85133014240. 4

Question Number : 110 Question Id : 8513303563 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Gt - | BT gl -1l o HrY FAeH &R -

i - | gl - 1l

3, Il Fard || 9Dy
d. 3R 1. T
goRags 9s 1. fafsan
¢ die VACIREIES
Eﬁﬁwaﬂ_{ﬁ :

1.H-1,d-1L"H-1, G-IV
29 -1,d-1,9-1v, c- 1l
3.H-IV,d-1LH-1,q-1l
4. 3-1,d-1V, "H-1l, -1
Options :

85133014237. 1
85133014238. 2
85133014239. 3
85133014240. 4

Question Number : 111 Question Id : 8513303564 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

“Triple fusion” occurs in which group of plants?

1. Gymnosperm
2. Angiosperm
3. Pteridophyte
4. Bryophyte
Options :
85133014241. 1
85133014242.2
85133014243.3



85133014244. 4

Question Number : 111 Question Id : 8513303564 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

“feud T Y & & Qe o U S 2 |

1. o
2. Ufofgragd
3. SRSmIUe
4, SIS

Options :

85133014241. 1
85133014242.2
85133014243. 3
85133014244. 4

Question Number : 112 Question Id : 8513303565 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Match List | with List 1]

List | List Il
A, Factor IV . Christmas factor
B. Factor IX Il. AHF
C. Factor XlI I, Calcium
D. Factor VI IV. Hageman factor

Choose the correct answer from the options given below:

A-(ll), B-(1), C-(1V), D-(IN)

A-(1l), B-(IV). C-(1), D-(1)

A-(1), B-(I1), C-(11), D-(1V)
4, A-[II}. B-(IV), C-(1), D-(1l)
Options :

85133014245. 1
85133014246. 2
85133014247.3
85133014248. 4

Question Number : 112 Question Id : 8513303565 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Gt - | BT gl -1l o HrY FAeH &R -
gl - | i - 1l

HYH - v || FuHg UC®
q.°9CH - X Il AHF
.9 - Xl |IIl. Picaraq
G °U<H - VI [IV. 25 Uedh
Eﬁﬁwaﬂ_{ﬁ

.-, d-L"H-1IV,q-1
29 -1, d-1vV,H-1l,q-I
3.9-1,d-1N,9-1l, -1V
4. 3-1,d-1Iv, H-1,q-1l
Options :

85133014245. 1
85133014246. 2
85133014247.3
85133014248. 4

Question Number : 113 Question Id : 8513303566 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The single-stranded overhanging ends of DNA produced by the restriction
endonuclease through offset cuts in the DNA strands are called

1. Palindromes

2. Blunt-ends

3. Cohesive-ends
4. End-transcripts
Options :
85133014249. 1



85133014250. 2
85133014251.3
85133014252. 4

Question Number : 113 Question Id : 8513303566 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
IETH TSy §RI SLEAL ¥ S H 3% I R ©¢ & Horaey Ushd dedhd gu SLuAL
d~] &I el Al 6|

1. Ufearg

2. da

3. gEe®
4,43 - 2ifepy
Options :
85133014249. 1
85133014250. 2
85133014251.3
85133014252. 4

Question Number : 114 Question Id : 8513303567 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

At each trophic level, a certain mass of living material at a particular time is known as

1. Dry weight

2. Standing crop
3. Fresh weight
4. Standing state
Options :
85133014253. 1
85133014254. 2



85133014255.3
85133014256. 4

Question Number : 114 Question Id : 8513303567 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
TS UYD TR R Goild I @ JH] eyl WY 990 R FY 9 Y S 91dl g

1. Y0 HR
2. ¥ds! A
3. il HIR

4, TR 3pg@yn
Options :
85133014253 1
85133014254. 2
85133014255. 3
85133014256. 4

Question Number : 115 Question Id : 8513303568 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



In contrast to flying birds, few ratite birds have

A. Urinary bladder

B. Bone without space

C. Well-developed wings

D. Generally skin without glands

E. Internal development

Choose the correct answer from the options given below

1. A, B and E only
2. A and B only
3.C, D and E only
4. A, Cand D only
Options :
85133014257. 1
85133014258. 2
85133014259. 3
85133014260. 4

Question Number : 115 Question Id : 8513303568 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



TS W uell, 35 9t uféEt @ g & e gaa B
H. 7 A

9. fo 1 T 3t iy

9. guf fa ¥d 9

. GAFG: fo-1 HiUged o

7. 3MdR® [aod

el fddedig IR g -

1. &ad 3, 9T g
2. Had A qUT §

3. ®aa g, gaulg
4, Had A, AT
Options :
85133014257. 1
85133014258. 2
85133014259. 3
85133014260. 4

Question Number : 116 Question Id : 8513303569 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

If Henle's loops are absent in mammalian nephron, which one of the following will occur?

1. More dilute urine

2. No urine formation

3. Hardly any change in the quality and quantity of urine
4. More concentrated urine

Options :



85133014261. 1
85133014262. 2
85133014263. 3
85133014264. 4

Question Number : 116 Question Id : 8513303569 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Tfe 78 & AW ¥ 870 QU SUieyd giaT & ol Fa d4a &
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3. 3 &1 911 991 01 5 Bis 9RadH el
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Options :

85133014261. 1

85133014262. 2

85133014263. 3

85133014264. 4

Question Number : 117 Question Id : 8513303570 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Cu™" released from copper releasing intra uterine devices,

1. Makes uterus unsuitable for implantation
2. Increases phagocytosis of sperms

3. Suppresses sperm mobility

4. Prevents discharge of ova from ovary
Options :

85133014265. 1

85133014266. 2



85133014267. 3
85133014268. 4

Question Number : 117 Question Id : 8513303570 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
dia HaaH 3id: U g gR1 3dliad Cu?* 4

1. T4 Swie 9 T8l Edl

2. JEP1Y] &1 AT e s 96 ATdl 6|

3. Y A H AU BT B |

4, HSEA T U B F1d F1i8d Bl g
Options :

85133014265. 1

85133014266. 2

85133014267. 3

85133014268. 4

Question Number : 118 Question Id : 8513303571 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Match List | with List 1]

List | List 1l
A. Penicillium .. TMV
B. Retrovirus Il. Antibiotic
C. Heterosporous . Sequoia
D. Giant Redwood tree V. Selaginella

Choose the correct answer from the options given below

A-(1), B-(IV), C-(1m1), D-(ll

A-(IV), B-(111, C-(1), D-(1

A-(10), B-(11), C-(1), D-(IV
4. ﬁ-l[”}- B-(1), C-(Iv), D-(1
Options :
85133014269. 1
85133014270. 2
85133014271. 3
85133014272. 4

)
)
)
)

Question Number : 118 Question Id : 8513303571 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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3. Ufafaferaa . TMV

. YCIdRRY 1. Gdlargifies
. 22y 1. TR atfadn

G dsIs -g3 U VALGEEN
Eﬁﬁwaﬂ_{ﬁ

1.oH-1,d-IvV.H-1, -1
29-IV,d-1L,9-1l,q-I
3.9-11,d-1L,L°9-1, -1V
4.3 -11,d-1,°9-1v,q-1l
Options :

85133014269. 1
85133014270. 2
85133014271. 3
85133014272. 4

Question Number : 119 Question Id : 8513303572 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Cleistogamous flowers are pollinated by

1. Birds

2. Insects

3. Bats

4. Self-pollination
Options :
85133014273. 1
85133014274.2
85133014275.3



85133014276. 4

Question Number : 119 Question Id : 8513303572 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

THicg RIETO quf & TRAT &1 RS 9 &

1. Gt

2. BT

3. dHITGS

4, %G I
Options :
85133014273. 1
85133014274.2
85133014275.3
85133014276. 4

Question Number : 120 Question Id : 8513303573 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



All living organisms exhibit

A. Dynamic state

B. Regulatory mechanism

C. Exchange of matter

D. No equilibrium between anabolic and catabolic processes
E. Steady-state

Choose the correct answer from the options given below

1. A, B and C only
2. A, CandE only
3. B, Cand E only
4.C, D and E only
Options :
85133014277. 1
85133014278. 2
85133014279. 3
85133014280. 4

Question Number : 120 Question Id : 8513303573 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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3. Phaq e gyl g
4 Haq g, cauld
Options :
85133014277. 1
85133014278. 2
85133014279. 3
85133014280. 4

Question Number : 121 Question Id : 8513303574 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Process of transcription in bacteria involves

1. Polyadenylation, initiation, termination
2. Capping, elongation, termination

3. Elongation, splicing, termination

4. Initiation, elongation, termination
Options :



85133014281. 1
85133014282. 2
85133014283.3
85133014284. 4

Question Number : 121 Question Id : 8513303574 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
A & 3goe- ufshar § g g g

1. TGS HATRM, 38, G
2. BT, g, THH

3. g4, e, g9

4, TR, 94, JH0=

Options :

85133014281. 1

85133014282, 2

85133014283. 3

85133014284. 4

Question Number : 122 Question Id : 8513303575 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Match List | with List 1]

List | List Il
(Hominins) (Brain Size)
A. Homo erectus |. 1400cc
B. Homo neanderthalensis Il. 440cc

C. Homo habilis I1l. 1000cc
D. Australopithecus V. 650cc

Choose the correct answer from the options given below

1. A-(1), B-(111), C-(1V), D-(II)
2. A=), B-(1), C-(11), D-(IV)
3. A=), B-(1), C-(1V), D-{II)
4. A-(1), B-{IV), C-(I1), D-(11)
Options :

85133014285. 1
85133014286. 2
85133014287.3
85133014288. 4

Question Number : 122 Question Id : 8513303575 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Gt - | BT gl -1l o HrY FAeH &R -
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GRISIEE) ({ARTE 4R)
3. B 3ae 1. 1400 cc
g, S THeGrIeHRT Il 440 cc

g. el efafeg 1. 1000 cc
G, ARCfeIuiey V. 650 cc
Hﬁﬁﬁﬂqﬁﬂﬁ -

T.A-1,d-1,°H-1v,q-1
23-1,d-1,89-1, -1V
3.-1,d-1L,H-1v, -1l
4. -1, d-1v, "H-1l,q-1
Options :

85133014285. 1
85133014286. 2
85133014287.3
85133014288. 4

Question Number : 123 Question Id : 8513303576 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

In human female, the ovarian cycle begins when the

1. Levels of estrogen reaches its minimum

2. Hypothalamus stimulates the anterior pituitary gland to increase its output of FSH and LH
3. Level of progesterone remains constant

4. Hypothalamus increases its release of FSH and LH

Options :

85133014289. 1



85133014290. 2
85133014291. 3
85133014292. 4

Question Number : 123 Question Id : 8513303576 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
T4 A1a1 § HUSTY - 9% 9 9 URY Bl o

1. SO TR HH FFdq TR W) Ugdadl 3

2. eUIgaHY 1 figy U @1 FSH aYT LH &1 W) d6H & o 3dford #dl 8|
3. AoReH &1 wR RR Ed1 g

4, SRATATHY FSH TYUT LH &1 %1 91 &l o

Options :

85133014289. 1

85133014290. 2

85133014291. 3

85133014292 4

Question Number : 124 Question Id : 8513303577 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Identify the incorrect statements

A, ‘Lock and Key' hypothesis rules out the requirement of complementarity in enzyme active
site and substrate architecture

B. As substrates react, they become stable low energy intermediates that stay in this state
momentarily

C. Catalyst is necessary to lower the activation energy and facilitate a biochemical reaction

D. All endergonic reactions are energy-releasing and aid catabolism

E. Intracellular enzymes act within the cell

Choose the correct answer from the options given below

1. A, B and E only
2. A, Band Conly
3. A, B and D only
4. B, Cand D only
Options :
85133014293. 1
85133014294. 2
85133014295.3
85133014296. 4

Question Number : 124 Question Id : 8513303577 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :
85133014293, 1
85133014294. 2
85133014295. 3
85133014296 4

Question Number : 125 Question Id : 8513303578 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



A species when defined in terms of the total interactions of all its members with the nonliving
and living part of the environment, in a specific area, is known as

1. Biological species concept

2. Ecological species concept

3. Morphological species concept
4. Interactive species concept
Options :

85133014297. 1

85133014298. 2

85133014299. 3

85133014300. 4

Question Number : 125 Question Id : 8513303578 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

d Ud Uelltd &l 39& 9y Yedi & Qaiaiul & uifdd aul (Feiid gl 3 a1 & 21YR 1R 365
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2. SHIAIEd olfd g
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Options :

85133014297. 1
85133014298. 2
85133014299. 3
85133014300. 4

Question Number : 126 Question Id : 8513303579 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



During replication in E. coli, mutations inactivate the gene coding for beta-galactosidase.
Which of the following will be affected?

1. Hydrolysis of glucose
2. Hydrolysis of lactose

3. Hydrolysis of galactose
4. Hydrolysis of xylulose
Options :

85133014301. 1
85133014302. 2
85133014303. 3
85133014304. 4

Question Number : 126 Question Id : 8513303579 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
g @iz 4 ufadpdd & I9Y9 IARAdA & ®RU §lel - Tae s od @l b FsEd gH R HY

1. I BT o] 3T

2. TIFEIS 1 o 3{UgeH

3. ITige S 1 ol U9
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Options :

85133014301. 1
85133014302. 2
85133014303. 3
85133014304. 4

Question Number : 127 Question Id : 8513303580 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Strobilization is seen in

A, Jelly fish

B. Hydra

C. Tapeworm

D. Oligochaetes

E. Radiolarian

Choose the correct answer from the options given below

1. A and B only
2. A and C only
3.B and E only
4. Cand E only
Options :
85133014305. 1
85133014306. 2
85133014307. 3
85133014308. 4

Question Number : 127 Question Id : 8513303580 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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1. Had A qUT §
2. Haa A aul g
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A Haagaurg
Options :
85133014305 1
85133014306. 2
85133014307. 3
85133014308. 4

Question Number : 128 Question Id : 8513303581 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Find out the correct sequence of biological evolution of the primitive cell

A. Chemoautotrophs

B. Aerobic photoautotrophs

C. Anaerobes

D. Anaerobic photoautotrophs

E. Chemohetrotrophs

Choose the correct answer from the options given below

1.C,A B D E
2ACDEB
3.CEADB
4.C,B,AED
Options :

85133014309. 1
85133014310. 2
85133014311. 3
85133014312. 4

Question Number : 128 Question Id : 8513303581 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :

85133014309. 1
85133014310. 2
85133014311. 3
85133014312. 4

Question Number : 129 Question Id : 8513303582 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The pre-excitation potential difference between outside and inside of a neuron is called

1. Reaction potential
2. Resting potential
3. Spike potential

4. Action potential
Options :



85133014313. 1
85133014314.2
85133014315.3
85133014316. 4

Question Number : 129 Question Id : 8513303582 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

R A § gd R YT 1R Wiy Uexmd s deard g

1. U= gidTma
2. R UIezad
3. W@ UICIad
4, T3 U
Options :
85133014313. 1
85133014314. 2
85133014315.3
85133014316.4

Question Number : 130 Question Id : 8513303583 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Which of the following are NOT developed from ovary?

A Apple

B. Tomato

C. Mango

D. Coconut

E. Cashewnut

Choose the correct answer from the options given below

1. A and B only

2. A only

3. A, Cand D only
4. A and E only
Options :
85133014317. 1
85133014318. 2
85133014319.3
85133014320. 4

Question Number : 130 Question Id : 8513303583 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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1. Had A qUT §

2. ®Had 3

3. ®ad 3, gaul g
4. Had A qUT g
Options :
85133014317. 1
85133014318. 2
85133014319. 3
85133014320 4

Question Number : 131 Question Id : 8513303584 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
In the genome, genes regulated by common regulator are placed together in an arrangement
known as

1. DNA island
2. Operon
3. Spacer
4, Repeat



Options :

85133014321. 1
85133014322. 2
85133014323.3
85133014324. 4

Question Number : 131 Question Id : 8513303584 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

ST H §9F Mg gR1 FEiEd S 919 919 364 & ®H & 9 &gl ol 6
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4. J-3{1qd
Options :
85133014321. 1
85133014322.2
85133014323.3
85133014324. 4

Question Number : 132 Question Id : 8513303585 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Match List | with List 1]

List | List Il
A. Prokaryotic . Blue-green algae
B. Chitinous cell wall ll. Monera
C. Organ system lll. Fungi
D. N3 fixation V. Animalia

Choose the correct answer from the options given below

A-(11), B-(1In), C-(1v), D-(I)

A-(1), B-(1), C-(1), D-(IV)

A=), B-(1V), C-(1). D-(11)
4. A-[ V), B-(), C-(11), D-(l)
Options :
85133014325. 1
85133014326. 2
85133014327.3
85133014328. 4

Question Number : 132 Question Id : 8513303585 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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1.oH-11,d-10,8-1V, -1
29 -1, d-1,9-1,g-IV
3.9-11,d-1IV,H-1,q-1l
4. 3-1Iv,d-1L, -1, q-1l
Options :

85133014325. 1
85133014326. 2
85133014327.3
85133014328. 4

Question Number : 133 Question Id : 8513303586 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement I: Sewage discharge in a flowing river causes an increase in biochemical oxygen
demand (BOD) due to the biodegradation of organic matter by microbes. This leads to the
mortality of fish and other aquatic creatures.

Statement ll: Sewage discharge in a flowing river causes a sharp decline in dissolved oxygen
(DO) downstream from point of discharge due to increased consumption of DO by microbes.
This leads to the mortality of fish and other aquatic creatures.

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement | and Statement Il are correct

2. Both Statement | and Statement Il are incorrect
3. Statement | is correct but Statement Il is incorrect
4, Statement | is incorrect but Statement Il is correct
Options :

85133014329. 1

85133014330. 2

85133014331.3

85133014332. 4

Question Number : 133 Question Id : 8513303586 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :

85133014329. 1

85133014330. 2

85133014331 3

85133014332. 4

Question Number : 134 Question Id : 8513303587 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Values of partial pressure of oxygen and carbon dioxide in alveolar air are 104 mm Hg and 40
mm Hg respectively. Similar values in the venous blood are

1. 104 mm Hg and 40 mm Hg
2. 40 mm Hg and 45 mm Hg
3. 46 mm Hg and 37 mm Hg
4. 120 mm Hg and 60 mm Hg
Options :

85133014333. 1

85133014334. 2
85133014335.3

85133014336. 4

Question Number : 134 Question Id : 8513303587 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
DIUH] H O, qUI CO, B G 10.4 mmHg T4 40 mmHg HHLL: U A1dl § 341 UHR Jad 1
ga1d gl Adl g |

1. 104 mmHg d4T 40 mmHg
2. 40 mmHg d4l 45 mmHg
3. 46 mmHg d4l 37 mmHg
4. 120 mmHg d4T 60 mmHg
Options :

85133014333. 1

85133014334. 2
85133014335.3

85133014336. 4

Question Number : 135 Question Id : 8513303588 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Arrange the following steps of Glycolysis, starting from last to first

A, Glyceraldehyde-3-phosphate — 1,3, bis phosphoglyceric acid
B. Fructose-6-phosphate — Fructose 1,6, bisphosphate

C. Glucose — Glucose-6-phosphate

D. 3- Phosphoglyceric Acid — 2-Phosphoglycerate

E. Phosphoenol pyruvate — Pyruvic Acid

Choose the correct answer from the options given below

1. A D EBC
2EDAEBC
3.D,EBAC
4.B,EADC
Options :

85133014337. 1
85133014338. 2
85133014339. 3
85133014340. 4

Question Number : 135 Question Id : 8513303588 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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ol o @] fadedid IR g -

1 H—-G-=d-d-4
2Y-gqg—-3H-d-94
3c—-d—-d-3 -4
4d-d-H-gq-9F
Options :

85133014337. 1
85133014338. 2
85133014339. 3
85133014340. 4

Question Number : 136 Question Id : 8513303589 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Arrange the stages in antibody production in the correct order

A, B-Cell mitosis and cloning of plasma cell

B. Antigen entry, antibody binding and endocytosis

C. Activation of B-Cell

D. Antibody Mass production

E. Antigen presentation on MHC proteins

Choose the correct answer from the options given below

1.B,D, A EC
2B ACED
3BBCEAD
4B ECAD
Options :

85133014341. 1
85133014342. 2
85133014343.3
85133014344. 4

Question Number : 136 Question Id : 8513303589 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



UCIaTEl ST & Ual 1 Hel A ford -

3. B - DIADT [GHISH TUT CITSHT DITADT B TN
4. UTeH &1 A, UTalS] 68 T USIageiiad
4. B - DD BT JeioH

. IC1aI] &l 9gd JdIeA
g, TS & MHC U ST
ol o @ fadbedid IR g -

ld-g-=3H-9-94
2d-3H-H-0-0q
3d-H-=Y-=3-0q
4d-d-H-d-0q
Options :

85133014341. 1
85133014342. 2
85133014343.3
85133014344. 4

Question Number : 137 Question Id : 8513303590 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Kranz anatomy is a characteristic feature of

1. Glycine max

2. Volvox aureus

3. Amaranthus viridis
4. Aspergillus niger
Options :



85133014345. 1
85133014346. 2
85133014347.3
85133014348. 4

Question Number : 137 Question Id : 8513303590 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

ol HidRe AT &1 B f[aRIud &

1. TS U Haw

2. FITTIFT HGTH
3. TRy [avigy
4, TGIFIeHg [HT7
Options :
85133014345. 1
85133014346. 2
85133014347. 3
85133014348. 4

Question Number : 138 Question Id : 8513303591 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which group of structures/organs have similar functions?

1. Antennae of cockroach, Tympanum of frog and Clitellum of earthworm

2. Incisors of rat, Proventiculus of cockroach and Tube feet of Asterias

3. Nephridia in earthworm, Malpighian tubules in cockroach and Nephron in rabbit

4. Typhloscle in earthworm, intestinal villi in human and Contractile vacuole in Paramecium
Options :

85133014349. 1

85133014350. 2



85133014351.3
85133014352. 4

Question Number : 138 Question Id : 8513303591 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
19 3Tl &1 THE THH Bl S Bl

1. Dld TeHI, Hed Bl SHUH qUl hgd & Dalscad

2. I B STUeR BIdhId & Wddipad dul ®RIhY o4 Bie

3. &gU & ABITST], Bield & HIageg eaad ayl @ & kM

4. U ¥ CEHIIE, HHd & S 2o aun SRiaiRes Uead—g [myr!
Options :

85133014349. 1

85133014350. 2

85133014351. 3

85133014352. 4

Question Number : 139 Question Id : 8513303592 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Arrange the following, starting from first trophic level

A, Molluscs
B. Hydrilla
C. Snake

D. Hawk

E. Fish

Choose the correct answer from the options given below

1.A B CD,E
2B A CDE
3BBAECD
4B A EDC
Options :

85133014353. 1
85133014354. 2
85133014355.3
85133014356. 4

Question Number : 139 Question Id : 8513303592 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



9 &1 U0 & TR & YR 91 a6 @1 -
3, Aiewdl

o grEiga

9. 91
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1 HA—-d-H-q =7
2d-3H--H-q-9
3d-3H--d-H-0q
4d-H-J-gq-9¥
Options :

85133014353. 1
85133014354. 2
85133014355.3
85133014356. 4

Question Number : 140 Question Id : 8513303593 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Match List | with List 1]

List | List Il
A. Ramsar Convention l. Removal of hazardous waste
B. Helsinki Declaration Il. Sustainable development
C. Agenda-21 lIl. Limit the release of CFC
D. Basel Convention IV. Conservation of wetlands

Choose the correct answer from the options given below:

A-(IV), B-(II), C-(I1), D-(1)
A-(I1), B-(IV), C-(I1), D-(1)
A-(IV), B-(II), C-(1), D-(II)

)

4. A-(1), B-(11), C-(1m), D-(1v
Options :

85133014357. 1
85133014358. 2
85133014359. 3
85133014360. 4

Question Number : 140 Question Id : 8513303593 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Gt - | BT gl -1l o HrY FAeH &R -

gl - | gl - 1l

3, IR HHLH . BB d%e & ARSI
9. saldd! [SHRRE (I FURUTY fadm

. TolsT - 21 1. CFC 1 | (g0

G. 990 &a%H V. dETUS B YgaHl
Eﬁﬁwaﬂ_{ﬁ :

1.oH-IvV,d-1L,8-1,G-1
29 -1, d-1IV,H-1l,q-I
3.H-IV,d-1LH-1,q-1l
4. 3-1,d-1L°9-1ll, @ -1V
Options :

85133014357. 1
85133014358. 2
85133014359. 3
85133014360. 4

Question Number : 141 Question Id : 8513303594 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Find out the correct sequence in hydrosere

A. Hydrilla
B. Oak

C. Scirpus

D. Volvox

E. Pistia

Choose the correct answer from the options given below

1.A B CD,E
2B CDEA
3D,AECEB
4.C,D,EAB
Options :

85133014361. 1
85133014362. 2
85133014363. 3
85133014364. 4

Question Number : 141 Question Id : 8513303594 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



SashH® H 4 Sfial 31 98l HH
3. BIgfgal

. 3D

9. T<Id

<. dicdrey

7. fofeean

ol o @] fadedid IR g -

1l H—-d-H-q-4
2d-H-=g-0-=49
3= -=d-H-4d
4G -d -39 -4
Options :
85133014361. 1
85133014362. 2
85133014363. 3
85133014364. 4

Question Number : 142 Question Id : 8513303595 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



An interaction between two living individuals of different species in the same habitat where
one does not allow the other to survive, falls under

A. Gause’s hypothesis

B. Protocooperation

C. Principle of competitive exclusion

D. Ammensalism

E. Parasitism

Choose the correct answer from the options given below

1. A, Cand D only
2. A, B and E only
3.B,Cand D only
4.C, D and E only
Options :
85133014365. 1
85133014366. 2
85133014367. 3
85133014368. 4

Question Number : 142 Question Id : 8513303595 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :
85133014365. 1
85133014366. 2
85133014367. 3
85133014368 4

Question Number : 143 Question Id : 8513303596 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement |: Specificity of an enzyme depends on its active site architecture and is not limited
by substrate structure.

Statement Il: Complementarity of the substrate and active site architecture are necessary for
the formation of an enzyme substrate complex.

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement | and Statement Il are correct

2. Both Statement | and Statement Il are incorrect
3. Statement | is correct but Statement Il is incorrect
4, Statement | is incorrect but Statement Il is correct
Options :

85133014369. 1

85133014370. 2

85133014371.3

85133014372. 4

Question Number : 143 Question Id : 8513303596 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



fagi ey RUE -
HY -
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DY - I

gatce Yl Tailed @I eh1g ®H H URWRE GHF THllgH - §a9ce GHE o1 o HIaWd &
|

IWRIdd HYHl & YR R Fol [ddhedid SR g :

1. Y - 1 YT HYT - 1 T &

2. GFI BY - | TUTHYA - 1| ST &

3. YT - | 9 © dih @Y - 1| SEA 5
4, TYF - | HTA g A dYT - 1 T B
Options :

85133014369. 1

85133014370 2

85133014371. 3

85133014372 4

Question Number : 144 Question Id : 8513303597 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Which of the following are major natural mechanisms for the breakdown of chemicals in the
environment?

A. Degradation by sunlight

B. Auto-halogenation

C. Microbial degradation

D. Auto-phosphorylation

E. Auto-oxidation

Choose the correct answer from the options given below

1. A, Cand D only
2. B, D and E only
3. A, CandE only
4. A, B and D only
Options :
85133014373. 1
85133014374. 2
85133014375.3
85133014376. 4

Question Number : 144 Question Id : 8513303597 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :
85133014373, 1
85133014374 2
85133014375. 3
85133014376. 4

Question Number : 145 Question Id : 8513303598 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statements I: Respiratory Quotient (RQ) is the ratio of the volume of CO; evolved to the
volume of 0> consumed.

Statements II: Respiratory Quotient (RQ) is the ratio of the volume of O3 evolved to the
volume of CO; consumed.

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement | and Statement Il are correct

2. Both Statement | and Statement Il are incorrect
3. Statement | is correct but Statement Il is incorrect
4, Statement | is incorrect but Statement 1l is correct
Options :

85133014377. 1

85133014378.2

85133014379. 3

85133014380. 4

Question Number : 145 Question Id : 8513303598 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :

85133014377. 1

85133014378. 2

85133014379. 3

85133014380. 4

Question Number : 146 Question Id : 8513303599 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Match List | with List 1]

List | List 1l
A, Sausage . Saccharomyces cerevisiae
B. Yogurt |l. Enterobacter cloacae
C. Bread Il. Pediococcus cerevisiae
D. Sauerkraut  |IV. Streptococcus thermophilus

Choose the correct answer from the options given below

A-(1), B-(1N), C-(1), D-(1

A-(1), B-(111), C-(1v), D-(1

A-(1IT), B-(1V), C-(1), D-(I
- ﬁ-{l‘hﬁ]r B-(11), C-(1), D-(1
Options :
85133014381. 1
85133014382. 2
85133014383.3
85133014384. 4

V)
)
)
)

Question Number : 146 Question Id : 8513303599 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Gt - | BT gl -1l o HrY FAeH &R -

i - | Tl - 1l

. g . GBI TG
GRIIIE |, Geviaqey Faeial
.55 . TETHITT TG
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Eﬁﬁwaﬂ_{ﬁ :

1.H-1,d-1L"H-1, G-IV
29 -1, d-1,89-1V,q-I
3.9-11,d-1IV,H-1,q-1l
4. 3-Iv,d-1L,"9-1I, -1
Options :

85133014381. 1
85133014382. 2
85133014383.3
85133014384. 4

Question Number : 147 Question Id : 8513303600 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Match List | with List 1]

List | List Il

A. Forelimbs of bat and human|l. Vestigial organ

B. Pelvis in snake Il. Convergent evolution

C. Darwin’s finches lll. Divergent evolution

D. Wings of butterfly and birds |IV. Adaptive radiation

Choose the correct answer from the options given below

1. A-(1), B-(I1), C-(1), D-(IV
2. A-(IV), B-(l1), C-(1n), D-(1
3. A-(1), B-(ln), C-(11), D-(Iv
4. A-(0), B-(N), C-(1v), D-(lI
Options :

85133014385. 1
85133014386. 2
85133014387. 3
85133014388. 4

[ L -

Question Number : 147 Question Id : 8513303600 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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. 9iu &1 Ufead | HRT A
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Eﬁﬁwaﬂ_{ﬁ :

1.H-1,d-1L"H-1, G-IV
29-IV,d-1L,9-1l,q-I
3.9-1,d-1N,9-1l, -1V
4. 3-1,d-1,9-1IvV,q-1l
Options :

85133014385. 1
85133014386. 2
85133014387. 3
85133014388. 4

Question Number : 148 Question Id : 8513303601 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Name the missing link in between amphibians and reptiles

1. Lycaenops

2. Ichthyostega
3. Seymouria

4. Cynognathus
Options :
85133014389. 1
85133014390. 2
85133014391. 3



85133014392. 4

Question Number : 148 Question Id : 8513303601 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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1. AEHEAY

2. SHfReS
3. Famifan

4, IEARE

Options :

85133014389. 1
85133014390. 2
85133014391. 3
85133014392. 4

Question Number : 149 Question Id : 8513303602 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Bacteroids are formed during

A. Photosynthesis

B. Chemotaxis of microbes

C. Nitrogen fixation process

D. Pollination of flowering plants

E. Magnetotaxis of microbes

Choose the correct answer from the options given below

1. A and E only
2. B and D only
3. C only

4. Cand D only
Options :
85133014393. 1
85133014394. 2
85133014395.3
85133014396. 4

Question Number : 149 Question Id : 8513303602 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :
85133014393. 1
85133014394. 2
85133014395. 3
85133014396. 4

Question Number : 150 Question Id : 8513303603 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement I: Plants rapidly adjust the architecture and physiology of their roots to exploit
patches of available nutrients in the scil. Roots of many plants respond to pockets of low
nitrate availability in soil by extensively branching there.

Statement II: Plants rapidly adjust the architecture and physiology of their roots to exploit
patches of available nutrients in the soil. When encountering pockets rich in nitrate, a root
extends through the pockets instead of branching within them.

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement | and Statement Il are correct

2. Both Statement | and Statement Il are incorrect
3. Statement | is correct but Statement Il is incorrect
4, Statement | is incorrect but Statement 1l is correct
Options :

85133014397. 1

85133014398. 2

85133014399. 3

85133014400. 4

Question Number : 150 Question Id : 8513303603 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :

85133014397. 1

85133014398, 2

85133014399, 3

85133014400 4




